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Question Number : 1 Question Id : 21280729336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In the context of minimally processed foods, which of the following are manufactured through
microbial or chemical synthesis ?

(1) Preserved foods

(2) Manufactured foods

(3) Formulated foods

(4) Synthetic foods

Options :
212807117341. 1
212807117342. 2

212807117343. 3
212807117344. 4



Question Number : 1 Question Id : 21280729336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) Hferm @ uer
(2) T @ gerd
(3) dIR foran gan @ uee
(4) Hvafd @ gerd
Options :
212807117341. 1
212807117342.2

212807117343. 3
212807117344. 4
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Question Number : 2 Question Id : 21280729337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Salmonella can be easily destroyed by

(1) Heating

(2) Cooling

(3) Refrigeration

(4) Deep freezing
Options :
212807117345. 1
212807117346. 2

212807117347.3
212807117348. 4

Question Number : 2 Question Id : 21280729337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

HredHel STEHEl § TR fFm s wehar g |
(1) H Tk

(2) B Wh

(3) WRIET g

(4) e feHeRTo g
Options :

212807117345. 1
212807117346.2
212807117347. 3
212807117348. 4



Question Number : 3 Question Id : 21280729338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Deficiency of which of the following is referred to as “hidden hunger’ ?
(1) Carbohydrate

(2) Fats

(3) Micronutrients

(4) Protein

Options :

212807117349. 1
212807117350.2
212807117351. 3
212807117352. 4

Question Number : 3 Question Id : 21280729338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frfafaa § @ foraet &0t &1 Teow/fad g @’ e < 8 2

(2) a9

(3) H&H U
(4) WA
Options :

212807117349. 1
212807117350. 2
212807117351. 3
212807117352. 4

Question Number : 4 Question Id : 21280729339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

‘Langar” distributed in Gurudwaras is an example of which type of catering service ?
(1) Chain
(2) In house
(3) Welfare
(4) Commercial
Options :
212807117353. 1
212807117354. 2

212807117355. 3
212807117356. 4



Question Number : 4 Question Id : 21280729339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TeERl # ‘@R’ faawn forg YRR 1 WA JaT 1 TEH IR §
(1) @
(2) TEHa
(3) REATURRT
(4) arforfas
Options :

212807117353. 1
212807117354.2
212807117355. 3
212807117356. 4

Question Number : 5 Question Id : 21280729340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The full form of CFTRI is :
(1) Care Food Technology Research Institute
(2) Central Fruit Technological Research Institute
(3) Central Food Technological Research Institute
(4) Care Fruit Technological Research Institute
Options :
212807117357. 1
212807117358. 2

212807117359. 3
212807117360. 4

Question Number : 5 Question Id : 21280729340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
.U, 2. 31R, 316, (CFTRI) =l fosgd ®9 ¢ :
(1) T&T07 e UrRifTen] ST S
(2) =T we YRt STTEE e
(3) H=a TR URNfTER sTHum gem
(4) EIET Hed GRIATRT STEEE G

Options :

212807117357. 1
212807117358.2
212807117359. 3
212807117360. 4



Question Number : 6 Question Id : 21280729341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What does ICDS stands for ?
(1) Integrated Child Development Services
(2) Indian Child Development Sector
(3) Integrated Child Development Scheme
(4) International Child Development Services
Options :
212807117361 1
212807117362. 2

212807117363. 3
212807117364. 4

Question Number : 6 Question Id : 21280729341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

SR HL 2L TH, 1 A4 € -

(1) TafRa e fasrg Jand
(2) TR = fase &
(3) R are forsmre drsH
(4) SlaUgE s1er foreRr Famd

Options :

212807117361. 1
212807117362. 2
212807117363. 3
212807117364. 4

Question Number : 7 Question Id : 21280729342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Children “in conflict with law” are also referred to as
(1) Special children
(2) Criminal children
(3) Juvenile delinquents
(4) Special needs children
Options :
212807117365. 1
212807117366. 2

212807117367. 3
212807117368. 4

Question Number : 7 Question Id : 21280729342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 1 e H ad Il bl fohe &9 § fafde foran s & -
(1) Tevrm ==
(2) A 9=

(3) Tememe—aroue
(4) a9 STEegsRd ard o=
Options :

212807117365. 1
212807117366. 2
212807117367. 3
212807117368. 4

Question Number : 8 Question Id : 21280729343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following skill is required in an early childhood professional ?
(1) An interest in children and their development

(2) Cooking skills for preparing packed lunch for children

(3) Enthusiasm for social interaction

(4) Capacity for understanding individual differences

Options :

212807117369. 1
212807117370.2
212807117371. 3
212807117372. 4

Question Number : 8 Question Id : 21280729343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fefafad § 9 i 91 FI9e Tk IR aedreae] Y96 & fau Aayas 2
(1) == 3IR 37 fawm § w4

(2) == % fau S o fesamsg i TR w3 % fau @ whe % wee
(3) wrIferer Gk o fam s

(4) eafara fimmmsti 1 TreM & ama

Options :

212807117369. 1
212807117370. 2
212807117371. 3
212807117372. 4



Question Number : 9 Question Id : 21280729344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

As per the NCF (2005) position paper on Early Childhood Education, the basic objectives of ECCE
are :

(
(B
(C
(D) Providing support services for women

(E) Holistic developement of the child

Choose the correct answer from the options given below :
(1) (A) (B), (O, (D) only

(2)  (A) (©), D), (E) only

(3)  (A), (B), (D), (E) only
4)

Options :

212807117373. 1

212807117374. 2

212807117375. 3
212807117376. 4

=

) Providing food services to children

—

Preparation for school

Providing support services for children

——

Question Number : 9 Question Id : 21280729344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

grfrer srearae fan T U ged=Et 9@ NCF (2005)  feafd 731 o s1qar, €948 & 9 R/ed
2
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Options :

212807117373. 1
212807117374.2
212807117375.3

o



212807117376. 4

Question Number : 10 Question Id : 21280729345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Name the kind of home for children where juveniles (children under 18 years of age) found guilty
in terms of violation of law, are placed in custodial care.
(1) Observation Homes
(2) Special Homes
(3) Juvenile Homes
(4) Adoption Homes
Options :
212807117377. 1
212807117378. 2

212807117379. 3
212807117380. 4

Question Number : 10 Question Id : 21280729345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl o feTl 39 YRR % =R o1 ATH S0 STl (IR (18 9 | %1 3 & &), Sl HA & Seered o
H et uTe S €, 3% Ifirer H v S R 2

(1) STacld T8
(2) fmTE
(3) ToREIR 1w 8
(4) <R TE
Options :

212807117377. 1
212807117378.2
212807117379. 3
212807117380. 4

Question Number : 11 Question Id : 21280729346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of quality assurance in the garment industry, what is referred to as the process of
implementation and monitoring of quality systems like TOM and ISO ?

(1) Quality Control

(2) Quality Assurance

(3) Quality Management

(4) Quality Specifications

Options :
212807117381. 1



212807117382.2
212807117383. 3
212807117384. 4

Question Number : 11 Question Id : 21280729346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ofer -3 H Torer st & Hel H, g un. o g ud. il S uiEEn Yuned! o Rt iR
fe=ror =61 gfsren 1 fohe &9 8§ 51 STan 8 2

(1) ToreE fE=m

(2) TIUTERI STETEA

(3) T[UTERI Y Y

(4) TorEE] faferednd
Options :

212807117381. 1
212807117382.2
212807117383. 3
212807117384. 4

Question Number : 12 Question Id : 21280729347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of fabric defects, tentering marks and chafe occur due to which of the following
faults ?

(1) Yarn faults
(2) Weaving faults
(3) Dyeing faults
(4) Finishing faults
Options :
212807117385. 1
212807117386. 2

212807117387. 3
212807117388. 4

Question Number : 12 Question Id : 21280729347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807117385. 1
212807117386.2
212807117387. 3
212807117388. 4

Question Number : 13 Question Id : 21280729348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In apparel production, the process of preparing any product for dispatch from one place to another
is referred to as

(1) Packaging
(2) Packing
(3) Finishing
(4) Bundling
Options :
212807117389 1
212807117390. 2

212807117391. 3
212807117392. 4

Question Number : 13 Question Id : 21280729348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T Scare H, foRet Seare i Ueh T | O T TR 9N o fau R S it gl FeEd
gl
(1) kst oA
(2) U &
(3) UfEcSd HE

(4) wefa (sEd =EH)

Options :

212807117389. 1
212807117390. 2
212807117391. 3
212807117392. 4

Question Number : 14 Question Id : 21280729349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many thread are used in a Single Needle or Lockstitch Machine for stitching ?
(1) One

(2) Two

(3) Three

(4) Four
Options :

212807117393. 1
212807117394.2
212807117395. 3
212807117396. 4

Question Number : 14 Question Id : 21280729349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Toes o foiu U g o1 areeied weia | fhda url &1 39 foan i 2 2
() o

2) @
(3)
(4) =R

Options :

212807117393. 1
212807117394. 2
212807117395. 3
212807117396. 4

Question Number : 15 Question Id : 21280729350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is referred to as the number of warp and weft yarn in a square inch of woven fabric ?
(1) Weave count

(2) Yarn count

(3) GSM (Grams per Square Metre)

(4) Thread count

Options :

212807117397. 1
212807117398.2
212807117399. 3
212807117400. 4

Question Number : 15 Question Id : 21280729350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

A U FHIS F TH 0 59 H, I I 9 a w H@N F TG H 91 S @ © 2
(1) FATE & Fdl

(2) A=
(3) U\ ufd & Hiex (SiuHTA.)
(4) T ol HE&Al

Options :

212807117397. 1
212807117398.2
212807117399. 3
212807117400. 4

Question Number : 16 Question Id : 21280729351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of design analysis, part of the design which has been super imposed on the basic
structure is known as

(1) Structural design
(2) Functional design
(3) Applied design
(4) Advanced design

Options :

212807117401. 1

212807117402. 2

212807117403. 3
212807117404. 4

Question Number : 16 Question Id : 21280729351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

feste fagerou & Has # fesig 1 a8 Wi Sl 9o 6= 1 SsAiiad foean T g, 39 e
gl

(1) HEATHS fesE
(2) A fese
(3) ATYFH fesimeA
(4) =4 fesiEg
Options :

212807117401. 1

212807117402. 2

212807117403. 3
212807117404. 4

Question Number : 17 Question Id : 21280729352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

As per the Consumer Protection Act, which of the following right refers to acquire knowledge and
skill to be an informed consumer, so that s/he will be able to make wise decisions while purchasing
goods and hiring services ?
(1) Right to redressal
(2) Right to be informed
(3) Right to Consumer Education
(4) Right to be heard
Options :
212807117405. 1
212807117406. 2

212807117407. 3
212807117408. 4

Question Number : 17 Question Id : 21280729352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

SusreR Hean stfafram & srER, fefafad § 9 o6 @ sifusr v g (gf=a) 3uvis 31 & fag
T SR YA T hTH 1 Seeid Hdl €, ik a8 WHH T IR Fanedi &t fR 0 o % SRH Figam
qof o/ T H a8 Heh ?

(1) THaror w1 sAftenr

(2) gfaa fed SiF @ SR

(3) ek foan 1 sAfuER

(4) HAATE 1 AfUFER

Options :

212807117405. 1
212807117406. 2
212807117407. 3
212807117408. 4

Question Number : 18 Question Id : 21280729353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Ram has joined a new job in hotel. He coordinates with front office for information on departure
of guests, gets vacated rooms cleaned and hands over cleaned rooms. He has joined as :

(1) Floor supervisor

(2) Executive housekeeper

(3)

(4) Assistant housekeeper

Desk control supervisor

Options :
212807117409. 1
212807117410.2



212807117411. 3
212807117412. 4

Question Number : 18 Question Id : 21280729353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TR A B 1 75 ARl SaEA i 8 | 9% HeHE] ok o1 FE 2 e STR & W1 §H-ad dl &, Grell fhu
U HE WH HIE 7, 37X 32 Giar ¢ | 3699 forg &9 1 el sarg #1 €

(1) da J¥aarh

(2) wEEE T e YR

(3) E@rTdt fa=eh gdaers

(4) HEHF TRUSHHR

;)lpzt;gl;j 1:7409, 1

212807117410. 2

212807117411.3
212807117412. 4

Question Number : 19 Question Id : 21280729354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following standardization mark indicates that precious metals such as platinum
have been evaluated and tested for conformity to the national/international standard of fineness/
purity ?

(1) Il

(2) Agmark

(3) Ecomark

(4) Hallmark

Options :

212807117413. 1
212807117414. 2
212807117415. 3
212807117416. 4

Question Number : 19 Question Id : 21280729354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) STE.TE.SE. (ISI)
(2) W
(3) TRMEh
(4) BIHRR
Options :
212807117413. 1
212807117414. 2

212807117415.3
212807117416. 4

Question Number : 20 Question Id : 21280729355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which newspaper was involved in reporting details of ‘Project Village Chhatera” in 1969 ?
(1) Navbharat Times

(2) Hindustan Times

(3) Punjab Kesari

(4) Dainik Jagran

Options :

212807117417. 1
212807117418. 2
212807117419. 3
212807117420. 4

Question Number : 20 Question Id : 21280729355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

1969 § * afES1 am AU’ & feawo i fTqfdn § @F o1 g9=R o3 wiae o ?
(1) “IYRd 2
(2) Tos=m =

(3) USIE HE
(4) <fe SEm
Options :

212807117417. 1
212807117418.2
212807117419. 3
212807117420. 4

Question Number : 21 Question Id : 21280729356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

IKey Value




|C0mprehensi0n |MCQ

What services were provided in the Sustainable Access in Rural India (SARI) project ?
(1) Employment services
(2) Agricultural services
(3) e-government services
(4) Community services
Options :
212807117421. 1
212807117422.2

212807117423. 3
212807117424. 4

Question Number : 21 Question Id : 21280729356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e vRA H Tad 59 (SARI) IRESET § ®F 9 Tard yegH T 2
(1) TSR Hame

(2) Hfugard

(3) E-TETH= WA

(4) I Fard

Options :

212807117421. 1
212807117422.2
212807117423. 3
212807117424. 4

Question Number : 22 Question Id : 21280729357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following Nutrition programme is NOT involved in improving food security in India ?
(1) National Anaemia Control Programme

(2) Public Distribution System

(3) Antodaya Anna Yojana

(4) National Food for Work Programme

Options :

212807117425. 1
212807117426. 2
212807117427. 3
212807117428. 4

Question Number : 22 Question Id : 21280729357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Trefafad 5 | A 91 U FwEEs 9Rd § @ g S GURd § e 7@ 7 2
(1) U Ea-Aeqad s S®H

(2) e faawor gome

(3) SIHTEH o7 AT

(4) M % 950l UL IS (TF6) FF

Options :

212807117425. 1
212807117426. 2
212807117427. 3
212807117428. 4

Question Number : 23 Question Id : 21280729358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following Food Safety Management System indicate a comprehensive approach from
the farm to the store or consumer to identify potential sources of risk of contamination and steps
taken to minimise the risk ?

(1) Good Manufacturing Practices

(2) Good Hygiene Practices
(3) Good Handling Practices

(4) Hazard Analysis Critical Control Point

Options :

212807117429. 1
212807117430. 2
212807117431. 3
212807117432. 4

Question Number : 23 Question Id : 21280729358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Trefafed 9 | F S @R gean Yayd T @d H 2R A1 SUHE q% Qg F Gall o "ifad Bl i
UM L 3R Al ] HH HH o [0 IS T HEH| i G869 HA o o0 Teh ST gieehIvl &1 Hehd
2?2

(1) 1=t fafmio yafaar

(2) oT=S TeId gl

(3) oT=a weruH wgfaar

(4) ey faveryu faa=mmaes fHsm fog

PosoT1 17429,

212807117430. 2

212807117431. 3
212807117432. 4




Question Number : 24 Question Id : 21280729359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following information is NOT required to be gathered while assessing nutritional
status and nutrient needs of a patient ?

(1) Anthropometric measurements

(2) Knowledge on speciality foods for special health purposes
(3) Biochemical and biophysical assessment

(4) Health, diet, personal and medication history

Options :

212807117433. 1
212807117434.2
212807117435.3
212807117436. 4

Question Number : 24 Question Id : 21280729359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[ it g e frafg R due adl S 99 1 e S 999 fefafed O 9 F 9 SHer
TS 0 ! STEeahdl ol & ?

(1) "EafHfds 719

(2) Toumw wre e & fou fafere @ gl =1 5=
(3) S TErEfE $R Saifae g

(4) TR, ARR, AT 37 39K sfie™

Options :

212807117433. 1
212807117434.2
212807117435. 3
212807117436. 4

Question Number : 25 Question Id : 21280729360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What type of food service system involves preporation of food centrally at one place but is distributed
to several remote areas for final preparation and service ?

(1) Conventional food service system
(2) Assembly service system
(3) Commissary food service system

(4) Ready - prepared food service system

Options :



212807117437. 1
212807117438.2
212807117439. 3
212807117440. 4

Question Number : 25 Question Id : 21280729360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ot Ty | Yumed! H Ueh &1 €01 U2 WISH qAR {1 A ¢, eife sAf=m e i) dan (wiem) = fag
39 3 g & | faafia foren s €2

(1) OCORTd SISt Hal oTet

(2) HASe {1 YoIe!

(3) He-faun (wHifHERl) HIsH da yone!

(4) TIR 9IS HeE Tar gomet

Options :

212807117437. 1
212807117438.2
212807117439. 3
212807117440. 4

Question Number : 26 Question Id : 21280729361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(Type of Disability) (Characteristics)
(A) Autism (I)  Difficulties in reading, writing and arithmetic
(B) Cerebral Palsy (II)  Difficulties in locomotion due to damage to bones joints
and muscles
(C) Learning disabilities (IIT) Disability affecting communication, social interaction and
play behaviour
(D) Locomotor disability (IV) Difficulties of movement, posture, speech and hand

functions
Choose the correct answer from the options given below :
(1) (A)-(D), B)-1), (O)-11), (D)-(IV)
(2)  (A)HIV), (B)-(1), (C)-(D), (D)-(I)
3)  (A)-(0), (B)-(IV), (O-(II), (D)-(II)
(4)  (A)-(1D), (B)-(IV), (O-@), (D)-(11)

Options :

212807117441. 1
212807117442. 2
212807117443. 3
212807117444. 4



Question Number : 26 Question Id : 21280729361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

et - 1 1 it - 11§ e s
el - 1 T - 11

(A) T () e foa el siwnfom o wfeTeal

(B) gHf&TsH vet = () =gl & Sire &R wiFafel & SmEm % SR Fe § Sieeal

(C) e SAeqwa (III) AV dleTarel, FHISR 5 eh 3R GeleddeRr i YHifad
RGN

(D) =e TR deieli sroa (Iv) feem-gam #, 9e7 1 41, aadl oK e ¥ &9 FA |
et

i fou T fasredi § 9 Wt ST = HifSu |

(1) (A)-ID), (B)-1), (O-II), (D)-(IV)

(2)  (A)-(IV), (B)-(I), (C)-(), (D)-(II)

(3)  (A)-D), (B)}-(IV), (O)-(II), (D)-(I)

(4)  (A)-(ID), (B)-(IV), (O)-0), (D)-(I)

Options :

212807117441. 1
212807117442. 2
212807117443.3
212807117444. 4

Question Number : 27 Question Id : 21280729362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In order of their implementation, arrange the specific methods and procedures of special education
in appropriate sequence :

(A) Undertaking regular evaluation of the Individualised Education Programme

(B) Development of an Individualised Education Programme

(C) Undertaking an assessment of the child’s level in different areas of development and learning
(D) Facilitation of access and use of support services all through

Choose the correct answer from the options given below :

(1) (D), (A), (B) and (C)

(2 (©) (B), (A) and (D)
(3) (O, (D), (B) and (A)
(4)  (A), (©), (B) and (D)

Options :

212807117445. 1
212807117446.2
212807117447. 3
212807117448. 4



Question Number : 27 Question Id : 21280729362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

FrEE & e H, fam fen | fafre faftrll o uftkensii =1 sfaa s § orafem #1
(A) AfeaTa Toen wriskd &1 fafid Heaisd s

(B) =aferrrd foveq swrefshm =1 faenm

(C) eferm oiR fasrma & fafvm &5 § a1 % T 1 STha el

(D) TmdT Hasi de Ted ST 3TN &t gfaen

== fqu U fashedi # 9 W&t ST 1 T HiflC |

(1) (D), (A), (B) 3R (Q)

(2) (), (B), (A) 3R (D)
(3) (C), (D), (B) 3R (A)
4) (A), (O, (B) ¥R (D)
Options :

212807117445. 1
212807117446. 2
212807117447. 3
212807117448. 4

Question Number : 28 Question Id : 21280729363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In which year was the National Policy for Older Persons adopted by government of India ?
(1) 1996

(2) 1997
(3) 1998
(4) 1999
Options :

212807117449. 1
212807117450. 2
212807117451. 3
212807117452. 4

Question Number : 28 Question Id : 21280729363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A R 511 J Al o foa i Hifd fore o 1o 718 ot ?

(1) 199
(2) 1997
(3) 1998
(4) 1999
Options :

212807117449. 1
212807117450. 2
212807117451. 3
212807117452. 4

Question Number : 29 Question Id : 21280729364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following is mainly responsible for designing window displays, arranging store
merchandise, creating props and accents as well as styling mannequins ?

(1) Fashion designer

(2) Set designer

(3) Visual merchandise designer
(4) Interior designer

Options :

212807117453. 1
212807117454. 2
212807117455.3
212807117456. 4

Question Number : 29 Question Id : 21280729364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frafafad # 9 & 921 ®9 9 faes! ye fesq, ©R) rh=rs & sHae, i fFwiu siv 38 ggaa
Y T 91 Y| <l R Yo i % fore Suert €2

(1) A fesER

(2) 92 fesiE™

(3) Tassra weders fesE™

(4) @I (3IER) fese

Options :

212807117453. 1
212807117454.2
212807117455.3
212807117456. 4

Question Number : 30 Question Id : 21280729365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Which of the following is NOT a major method of washing in washing machines ?
(1) Tumbling
(2) Bottom - drain
(3) Agitation
(4) Pulsation
Options :
212807117457 1
212807117458. 2

212807117459. 3
212807117460. 4

Question Number : 30 Question Id : 21280729365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frefafad d 4 @ =t oy wefin 4 gae =t yga fafy 7@ 872
(1) Scde-Yare F1 (Tafed)

2) -SRI (SeH - $9)

(3) e/ foreire (Tsfieem)

(4) wHfed FET (TE9E)

Options :

212807117457. 1
212807117458.2
212807117459. 3
212807117460. 4

—

Question Number : 31 Question Id : 21280729366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is NOT a merit of the straight knife used for cutting the fabric ?
(1) Most readily available

(2) Best choice to cut knitted or stretch fabrics

(3) Can cut through multiple layers with precision

(4) Cheapest of the mechanised cutting apparatus

Options :

212807117461. 1
212807117462.2
212807117463. 3
212807117464. 4

Question Number : 31 Question Id : 21280729366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

fr=fafad # & #F W w9e FEA % fau 3w fee S ae S =1 &1 0 T8 © 2
(1) ol AHE T Iqa=y

(2) F g A fg=ra ot U 1 HeA w1 9 fowe

(3) ARSGAT % WY HE Al HT Teh Y FE Ghdl

(4) FHiFd HerE IR F HaH T ey

Options :

212807117461. 1
212807117462.2
212807117463. 3
212807117464. 4

Question Number : 32 Question Id : 21280729367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which out of the following are the duties of a front office manager in a hotel ?
(A) Reserves, registers and assigns rooms

(B) Schedules shifts and duties of the staff

(C) Welcomes guests on arrival

(D) Checks the arrivals of the day

(E) Shifts baggage of guests within and out of the room

Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (B) only
(3) (B) and (C) only
(4) (D) and (E) only

Options :

212807117465. 1
212807117466. 2
212807117467.3
212807117468. 4

Question Number : 32 Question Id : 21280729367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




frfafad 4 9 &4 9 tF gled d U@ FAad Jo-4s & Fdcd &7
(A) HHT AT FT, WS FE &R Afafed
(B) m¥ TIfvh &R wd=nfEl 1 gt § seana &l
(C) SAFTHA W Afferl =1 ST T
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(

D) fe&d & SRR I Si" T
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3 e T foreredl B & W@ w1 = A

(1) 9 (B) ¥R (D)

—

(2) ad (A) 3R (B)
(3) e (B) 3R (C)
(4) ad (D) 3R (E)
Options :

212807117465. 1
212807117466. 2
212807117467. 3
212807117468. 4

Question Number : 33 Question Id : 21280729368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following standardisation marks are NOT used for ensuring quality in fabrics ?
(A) ISI

(B) Hall mark

(C) Wool mark

(D) AGMARK

(E) Silk mark

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

2 (
(3) () (C
(4) (
Options :
212807117469. 1
212807117470. 2

212807117471. 3
212807117472. 4

Question Number : 33 Question Id : 21280729368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Fag # e gifEd & & fau frefafes § § fFm amee foe o 3ear =& e st e ?
(A) &I TH.3E. (IS])

(B) &I HIh
(C) I A
(D) WA
(E) T @reh

T e 1 fasredl # 9 W S @ 999 Fifsu)

(1) e (A), (B) 3 (D)
(2) I (A), (B) ¥R (C)
(3) had (B), (C) R (D)
(4) = (O), (D) 3R (E)
Options :

212807117469. 1
212807117470. 2
212807117471. 3
212807117472. 4

Question Number : 34 Question Id : 21280729369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the essential features of Development Communication.
y P

A) Tt is oriented to socio-economic development and happiness

P PP
B) It focusses on success stories of people who have adopted new technologies
peop P g

(C) Itaims at giving information and educating the community

(D) It is based on the audience characteristics and their environment

(E) It involves positive changes in the socio-economic and actual lives of the majority of people
on a permanent basis

Choose the correct answer from the options given below :
(1) (A), (©) and (D) only

(2) (A), (B) and (E) only

(3) (B), (C) and (D) only

(4) (A), (D) and (E) only

Options :

212807117473, 1

212807117474. 2

212807117475. 3
212807117476. 4

Question Number : 34 Question Id : 21280729369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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(1) e (A), (C) R (D)

(2) e (A), (B) 3R (E)

(3) Had (B), (C) ¥R (D)

(4) % (A), (D) ¥R (E)

Options :

212807117473. 1
212807117474.2
212807117475. 3
212807117476. 4

—

Question Number : 35 Question Id : 21280729370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the steps of Nutritional care process during illness in a proper sequence :
(A) Diagnosis of nutritional problems

(B) Planning and prioritising nutrition intervention(s)

(C) Evaluating nutritional care outcomes and making changes, if necessary

(D) Assessing nutritional status

Choose the correct answer from the options given below :

(1) D) (&) (B)» (©)

(2) (A), (B), (O), (D)
3)  (A) (O, ( ), (B)
(4) (D) (O, (B), (A)
Options :

212807117477. 1
212807117478.2
212807117479. 3
212807117480. 4

Question Number : 35 Question Id : 21280729370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(D) dryor skl fefa =1 streRe |
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(1) D) (A), (B), (O)

(2)  (A) (B), (©), (D)
(3)  (A) (©). (D), (B)
4) D) (©), (B), (A4)

Options :

212807117477. 1
212807117478. 2
212807117479. 3
212807117480. 4

Question Number : 36 Question Id : 21280729371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The way in which fashion changes is usually described as a fashion cycle. Arrange the stages of
fashion cycle in correct order :
(A) Increase in popularity
(B) Introduction of a style
(C) Obsolescence
(D) Peak of popularity
(E) Decline in popularity
Choose the correct answer from the options given below :
(1) (B), (D), (A), (E), (O)
(B). (&), (D) )
(3)  (B) (A) (D), (E), (O)
(4 (B) (D) (A) )
Options :
212807117481. 1
212807117482. 2

212807117483. 3
212807117484. 4

Question Number : 36 Question Id : 21280729371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(A) <Ry | gfg
(B) U el 1 4=

(1) (B) (D), (A), (E), (O
(2)  (B) (A), (D), ©), (E)
(3)  (B) (A) (D), (E), (O)
(4)  (B) (D), (A), (©), ()
Options :

212807117481. 1
212807117482.2
212807117483. 3
212807117484. 4

Question Number : 37 Question Id : 21280729372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the functions of management in correct sequence.
(A) Evaluation

(B) Organising

(C) Co-ordinating/Implementation

(D) Planning

(E) Controlling

Choose the correct answer from the options given below :

(1) (D), (©), (B), (E), (A)
(2) (D), (B), (E), (), (A)
(3) (D), (B), (C) (E), (A)
(4) (D) (A), (B), (©), (E)
Options :

212807117485. 1

212807117486. 2

212807117487. 3
212807117488. 4

Question Number : 37 Question Id : 21280729372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(A) TR
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(1) (D) (©) (B) (E), (A)
(2) (D) (B), (E), ©), (A)
3) (D), (B), (C), (E), (A)
(4) (D), (A), (B), (O (E)
Options :

212807117485. 1
212807117486. 2
212807117487. 3
212807117488. 4

Question Number : 38 Question Id : 21280729373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
Nutrients Deficiency disease
List - I List - II
(A) Iron (I)  Night Blindness
(B) Vitamin A (I) Goitre
(C) Protein (IIf) Anemia
(D) Ilodine (IV) Kwashiorkor

Choose the correct answer from the options given below :

(1) (A1), (B)-(V), (O-(1), (D)-(I)

(2)  (A)-(11D), ( ) ( ), (O-(1V), (D)-(IT)

(3)  (A)-(I), ) (O)-(1V), (D)-(III
(A)-(

) )
(4)  (A)-IV), ()(HI)I(C)( D), (D)-(D
Options :
212807117489. 1
212807117490. 2
212807117491. 3
212807117492. 4

Question Number : 38 Question Id : 21280729373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following are NOT examples of commercial catering ?
(A) Nursing homes

(B) Langar

(C©) Gymkhanas

(D) Speciality food services like ice cream parlours

(E) Mid day meals in schools

Choose the correct answer from the options given below :
(1) (), (D) and (E) only

(2) (B), (C) and (D) only

(3) (B), (A) and (E) only

(4) (B), (D) and (E) only

Options :
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Match List - I with List - IL

Units of measurement Description

List - 1 List - II

(A) EPI (I)  Density of the fabric measured by the number of warp yarns in
one inch of woven fabric

(B) PPI (II) Density of the fabric measured by the number of weft yarns in
one inch of woven fabric

(©) GSM (IIT) Density of knitted fabric measured by the weight of the given
fabric

(D) Thread count (IV) Number of warp and weft yarns in a square inch of woven fabric

Choose the correct answer from the options given below :

(D (A)-D), (B)-(D), (O-(1D), (D)-(IV)
(2)  (A)-1D), B)-(I), (CO)~(I), (D)-(IV)
(3)  (A)-(), (B)-(I), (O)-(1V), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (O)-(), (D)-(IT)
Options :

212807117497. 1

212807117498.2

212807117499. 3
212807117500. 4
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which principle of design indicates the relation of one part of an object to another ?
(1) Balance
(2) Proportion
(3) Rhythm
(4) Emphasis
Options :
212807117501. 1
212807117502. 2

212807117503. 3
212807117504. 4
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Proportion of golden mean is represented by which of the following ratios ?
{1} 3:5:8

(2) 3:6:8
(3) 3:6:9
(4) 3:5:9
Options :
212807117505. 1
212807117506. 2

212807117507. 3
212807117508. 4
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which one of the following example represent the ratio of 3:5:8 ?
(1) Shirt-pant dress

(2) Knee length one piece dress
(3) Skirt-blouse dress
(4) Knee length kurta

Options :

212807117509. 1
212807117510.2
212807117511.3
212807117512. 4
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Proportion can NOT be created in which of the following ?

(1) Colour

(2) Texture

(3) Emphasis

(4) Size
Options :
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which of the following does NOT relate to proportion in a dress ?
(1) Waist line

(2) Princess line

(3) Yoke line

(4) Hemline

Options :
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,
training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Determining duties of the positions and characteristics of the people for hiring in an organization
is known as .
(1) Job description
(2) Job analysis
(3) Job specification
(4) Job rotation
Options :
212807117521. 1
212807117522. 2

212807117523. 3
212807117524. 4
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Which of the following should be carried out before writing job descriptions ?
(1) Conducting interviews
(2) Job appraisal
(3) Job analysis
(4) Fixing compensation
Options :
212807117525. 1
212807117526. 2

212807117527. 3
212807117528. 4

Question Number : 47 Question Id : 21280729382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2




frrefafiga et &t a9 U 3R v & S )

e 1w ve 2§ for o o Frafe 9 S 31 e o v T % 9e e o san
e R femr € % # fras ufa s €, fFos g v 89 & eifuen § oir feos oy 59
HaTg T I AENHTA &1 AR faveraor o wiwen & fSus mem 3 ey S F Sl & Fdaedi i
ot qen =i =Rt Jan ST ER 37 el o fore ot @ed § 1 el fagerwon, et faeor (el # @
Hftnfer & 91 TH gE) @R A (ot e (e % R frg o o ®) R s ) % e
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(1) HIHTERR SIS e
(2) SR A HETiw

(3) HreRd fagery
(4) HSTEST TF FIT
Options :

212807117525. 1
212807117526.2
212807117527. 3
212807117528. 4

Question Number : 48 Question Id : 21280729383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

The process of enlisting what the job entails is known as in human resource management.
(1) Job analysis
(2) Job description
(3) Job fixation
(4) Job specification
Options :
212807117529, 1
212807117530. 2

212807117531. 3
212807117532. 4



Question Number : 48 Question Id : 21280729383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2
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(1) Hred fageryo

(2) Rl o1 e

(3) HreRd fFai

(4) Rt fafdw

Options :

212807117529. 1
212807117530. 2
212807117531. 3
212807117532. 4

Question Number : 49 Question Id : 21280729384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2




Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Determining the kind of people to be hired for the job is known as
(1) Controlling
(2) Job description
(3) Appraisal
(4) Job specification
Options :
212807117533. 1
212807117534. 2

212807117535. 3
212807117536. 4

Question Number : 49 Question Id : 21280729384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2
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(1) fE=m

(2) Rl faerm

(3) AT

(4) Rt fafdw

Options :

212807117533. 1
212807117534.2
212807117535. 3
212807117536. 4



Question Number : 50 Question Id : 21280729385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Filling the employee positions in an organization is known as
(1) Supervising

(2) Staffing

(3) Leading

(4) Controlling

Options :

212807117537. 1
212807117538.2
212807117539. 3
212807117540. 4

Question Number : 50 Question Id : 21280729385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension Comp?2
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(1) wdaEo

(2) w=IfET
(3) Hde
(4) Tz
Options :

212807117537. 1
212807117538.2
212807117539. 3
212807117540. 4
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Question Number : 51 Question Id : 21280729386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Name the education minister in first Cabinet of Free India :
(1) Sardar Vallabh Bhai Patel
(2) V.K. Krishanan
(3) Maulana Abdul Kalam Azad
(4) Babasaheb Bhimrao Ambedkar
Options :
212807117541. 1
212807117542. 2

212807117543. 3
212807117544. 4

Question Number : 51 Question Id : 21280729386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

WA YR i Y| HiEF Hed o foen w3 w1 AW Fan
(1) ¥ER I 9§ 90

(2) . % FUE

(3) HIGHI A FHelTHd TG

(4) dEMERS HHTE SFEEHT

Options :

212807117541. 1
212807117542.2
212807117543. 3
212807117544. 4

Question Number : 52 Question Id : 21280729387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A famous leader who was member of Viceroy’s executive council during the second World War :
(1) Jawahar Lal Nehru

(2) Mohan Das Karam Chand Gandhi

(3) Babasaheb Bhim Rao Ramji Ambedkar

(4) Deen Dayal Upadhyaya

Options :

212807117545. 1
212807117546.2
212807117547. 3
212807117548. 4

Question Number : 52 Question Id : 21280729387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ
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(1) SR i T8&

(2) HrETEH F3H =g e
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Options :

212807117545 1
212807117546. 2
212807117547. 3
212807117548. 4

Question Number : 53 Question Id : 21280729388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A Prominent Punjabi poet and fiction writer Amrita Pritam was the editor of which Punjabi monthly
magazine ?
(1) Grah Shobha
(2) Grah Laxmi
(3) Nagmani
(4) Nagpanchmi
Options :
212807117549. 1
212807117550. 2

212807117551. 3
212807117552. 4

Question Number : 53 Question Id : 21280729388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1) TR

(2) T @l
(3) AR
(4) FAFTGEHT
Options :

212807117549. 1
212807117550. 2
212807117551. 3
212807117552. 4

Question Number : 54 Question Id : 21280729389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Name the Gandhian worker who went on a fast in 1946 demanding that temples in Madras province
be opened to Dalits.

(1) Sardar Vallabh Bhai Patel
(2) Potti Sriramulu
(3) Rajkumari Amrit kaur

(4) Rafi Ahmed Kidwai
Options :
212807117553. 1
212807117554. 2

212807117555.3
212807117556. 4

Question Number : 54 Question Id : 21280729389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) EER gea9 9§ 9

(2) TR AR

(3) USHHRI 3T HR

(4) TH TeHg fhead
Options :
212807117553. 1
212807117554. 2

212807117555. 3
212807117556. 4

Question Number : 55 Question Id : 21280729390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The Green Revolution delivered only a moderate agricultural growth, mainly a rise in :
(1) Rice Production
(2) Oil seeds Production
(3) Wheat Production
(4) Lientils Production
Options :
212807117557. 1
212807117558. 2

212807117559. 3
212807117560. 4

Question Number : 55 Question Id : 21280729390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807117557. 1
212807117558.2
212807117559. 3
212807117560. 4

Question Number : 56 Question Id : 21280729391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Second Five Year Plan was drafted under the leadership of :
(1) K.N. Raj

(2) P.C. Mahalanobis

(3) J.C. Kumarappa

(4) Gopal Swamy Iyenger

Options :

212807117561. 1
212807117562. 2
212807117563. 3
212807117564. 4

Question Number : 56 Question Id : 21280729391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807117561. 1
212807117562. 2
212807117563. 3
212807117564. 4

Question Number : 57 Question Id : 21280729392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which year Britain attacked Egypt over the issue of nationalization of suez canal ?
(1) 1954

(2) 1955

(3) 1956
(4) 1957
Options :

212807117565. 1
212807117566. 2
212807117567. 3
212807117568. 4

Question Number : 57 Question Id : 21280729392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

WS gL oh UL 4 W foed 7 fire w form & strspyur foman 2
(1) 1954

(2) 1955

(3) 1956

(4) 1957

Options :

212807117565. 1
212807117566. 2
212807117567. 3
212807117568. 4

Question Number : 58 Question Id : 21280729393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In 1955, the Afro Asian conference was held in the Indonesian City of :

(1) Jakarta

(2) Surabaya

(3) Bandung

(4) Bekasi
Options :

212807117569. 1
212807117570.2
212807117571. 3
212807117572. 4

Question Number : 58 Question Id : 21280729393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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[Comprehension [MCQ
a4 1955 H, HKI-TRMET hi=h" SSHR & " TR § 970+ g :
(1) SfeRml

(2) guErn
(3) ST
(4) SRl
Options :

212807117569. 1
212807117570. 2
212807117571. 3
212807117572. 4

Question Number : 59 Question Id : 21280729394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A group of Congress leaders who were in control of the party’s organisation. It was led by K
Kamraj, former chief minister of Tamil Nadu and then the congress president. This group was
known as the :
(1) Cartel
(2) Council
(3) Syndicate
(4) Directorate
Options :
212807117573. 1
212807117574.2

212807117575. 3
212807117576. 4

Question Number : 59 Question Id : 21280729394 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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T A 1 U TE S ok el Wre o e | o, gt Aged &, s gd g wat afierg SR
dTcehifereh Shild S1ea& g fohan ST @1 o, 39 §qE i ford A8 & ST 7

(1) Iféa

(2) hisfEa

(3) fHfeere

(4) TSEERNE
Options :

212807117573. 1
212807117574.2
212807117575. 3
212807117576. 4



Question Number : 60 Question Id : 21280729395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A hindi writer awarded with Padam Shri, returned his award in protest against the suspension of
democracy. The writer was :

(1) Shivarama Karanth

(2) Giriraj Kishore

(3) Fanishwarnath Renu

(4) Jainendra Kumar

Options :

212807117577. 1
212807117578.2
212807117579. 3
212807117580. 4

Question Number : 60 Question Id : 21280729395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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(1) TeETm SR
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Options :

212807117577. 1
212807117578.2
212807117579. 3
212807117580. 4

Question Number : 61 Question Id : 21280729396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Under which Article the President of India can imposed Emergency on ground of internal
disturbances an external threats ?

) 1
(2) 152
(3) 352
(4) 286
Options :

212807117581. 1
212807117582.2
212807117583. 3



212807117584. 4

Question Number : 61 Question Id : 21280729396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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siafier Teeet A1 faeslt arendl i afeal & YR W fRe AT=e & qed YRd H Teufd sTueTd ]
FT HFA € :

1) 1
(2) 152
(3) 352
(4) 286
Options :

212807117581. 1
212807117582.2
212807117583. 3
212807117584. 4

Question Number : 62 Question Id : 21280729397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Key Details :
Key Value
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Who formed Mizo National Front group ?
(1) Angami Zapu Fizo
(2) Kazi Lhendup Dorji
(3) Laldenga
(4) P.A. Sangma
Options :
212807117585. 1
212807117586. 2

212807117587. 3
212807117588. 4

Question Number : 62 Question Id : 21280729397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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sl Fere % are forem o a1?
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Options :

212807117585. 1
212807117586. 2
212807117587. 3



212807117588. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
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Which of the following statement is correct ?

(1) The shah commission was appointed in 1977
(2) The Railway strike took place in 1975

(3) General elections took place in 1976

(4) BSP formed the Govt. in 1977

Options :

212807117589. 1
212807117590. 2
212807117591. 3
212807117592. 4

Question Number : 63 Question Id : 21280729398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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frmifera § @ -1 oA 96 2

(1) 9e T ot Fgfem 1977 9 &
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(3) ST FAE 1976 H F¥9 g
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Options :

212807117589. 1
212807117590. 2
212807117591. 3
212807117592. 4

Question Number : 64 Question Id : 21280729399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The Dravidian movement led to the formation of Dravidar Kazhagam (DK) under the leadership
of which social reformer ?
(1) A.K. Gopalan
(2) C. Rajagopalachari
(3) Jaya Ramdas Daulat Ram
(4) E.V. Ramasami ‘Periyar’
Options :
212807117593. 1
212807117594.2

212807117595. 3
212807117596. 4



Question Number : 64 Question Id : 21280729399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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(2) I TSEIAETERT

(3) SERMEE Srerd T
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Options :

212807117593. 1
212807117594. 2
212807117595. 3
212807117596. 4

Question Number : 65 Question Id : 21280729400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Who was the founder of Sikkim Praja Mandal ?
(1) Angami Zapu Phizo

(2) Lal Denga

(3) S.K. Barua

(4) Kazi Lhendup Dorji Khangsarpa

Options :

212807117597. 1
212807117598. 2
212807117599. 3
212807117600. 4

Question Number : 65 Question Id : 21280729400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Key Value
Comprehension MCQ
fafora gsl AUSd & H¥AUS HiFA 9 ?
(1) st sy fesh

(2) @ e

(3) TH. % FwA
(4) TSI oigy QLS WITHT

Options :

212807117597. 1
212807117598. 2
212807117599. 3
212807117600. 4



Question Number : 66 Question Id : 21280729401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The origin of Dalit Panthers in 1972 was formed in state of :
(1) Kerala

(2) Rajasthan

(3) Maharashtra

(4) Orrisa

Options :

212807117601. 1
212807117602. 2
212807117603. 3
212807117604 4

Question Number : 66 Question Id : 21280729401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
gfcra Yer &1 37M 1972 § ford 59 ° gel?
(1)
(2) TSTEEH
(3) THERTY
(4) sfifesn
Options :

212807117601. 1
212807117602. 2
212807117603. 3
212807117604. 4

Question Number : 67 Question Id : 21280729402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In January 1988, around 20,000 farmers had gathered in the city of Meerut, Uttar Pradesh protesting
against the increase electricity rates. These farmers were member of the :
(1) Bhartiya Kisan Morcha
(2) Bhartiya Kisan Sabha
(3) Bhartiya Kisan Union
(4) Indian Kisan Dal
Options :
212807117605. 1
212807117606. 2

212807117607. 3
212807117608. 4



Question Number : 67 Question Id : 21280729402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

& g3 foegd <0 & ufaeme § SEdl 1988 H @7 20,000 fREM 3T 969 o A3 I H UHA gW Y, 9
foram % TSH 9 ;

(1) e fepem Hr=f

(2) o fraE g

(3) A e A

(4) W fRam g
Options :

212807117605. 1
212807117606. 2
212807117607. 3
212807117608. 4

Question Number : 68 Question Id : 21280729403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Dalit Shoshit Samaj Sangharsh Samiti was formed by :
(1) Mayawati

(2) Mulayum Singh Yadav

(3) Kanshi Ram

(4) Ram Vilas Paswan

Options :

212807117609. 1
212807117610. 2
212807117611.3
212807117612. 4

Question Number : 68 Question Id : 21280729403 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
gfaq vifya wor 9=y gfafa & BRI a1 TS |
(1) HmEwEd
(2) HoEm &g Fea
(3) High A
(4) H foa™ qrEaH
Options :

212807117609. 1
212807117610. 2
212807117611. 3
212807117612. 4



Question Number : 69 Question Id : 21280729404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The code-name of the bomb dropped by the United states on Hiroshima was :
(1) Big Brother

(2) Little Boy

(3) Fat Man

(4) Ideal Man

Options :

212807117613. 1
212807117614.2
212807117615. 3
212807117616. 4

Question Number : 69 Question Id : 21280729404 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
ety ox stedisRT g FRmn 10 = k1 e A o ¢
(1) fam o=t
(2) feea a4
(3) e T
(4) e 7
Options :

212807117613. 1
212807117614.2
212807117615. 3
212807117616. 4

Question Number : 70 Question Id : 21280729405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Strategic Arms Reduction Treaty (START-1) was signed by USSR President Mikhail Gorbachev
and US President George Bush (Senior) in :

(1) Uzbekistan

(2) Belarus

(3) Moscow

(4) New York

Options :

212807117617. 1
212807117618.2
212807117619. 3
212807117620. 4




Question Number : 70 Question Id : 21280729405 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TAfes 79 giREmE G (g 3 U SR d-1) W difagd 99 & aedfd e dered 3R ol &
ezafa TSt g1 (Sf08) o o= SEAIaR el TR :

(1) ISR
(2) wAEd
(3) e
O RIED
Options :

212807117617. 1
212807117618. 2
212807117619. 3
212807117620. 4

Question Number : 71 Question Id : 21280729406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

During his regime the US President William Jafferson (Bill) Clinton focussed upon which of the
following issues in foreign policy ?

(1) Hard Politics

(2) Military Power and security
(3) Peace with neighbours

(4) Soft issues

Options :

212807117621. 1
212807117622.2
212807117623. 3
212807117624. 4

Question Number : 71 Question Id : 21280729406 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

STt o egufa faferm srhem (o) foeies A smm Fiea & SRA Feiferd g8 § 4 forg o oo
fereft =ifa =1 hf=a foran

(1) ®eR TSHif

(2) H= v AR e

(3) TSIfEEi & wie it

(4) TEER

Options :
212807117621. 1
212807117622. 2



212807117623. 3
212807117624. 4

Question Number : 72 Question Id : 21280729407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Operation Iraqi freedom was launched by the US on :
(1) 20 March 2003
(2) 19 March 2003
(3) 20 March 2004
(4) 19 March 2004

Options :

212807117625. 1
212807117626. 2
212807117627. 3
212807117628. 4

Question Number : 72 Question Id : 21280729407 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ST BRI SO SUeh! ThieH e SR foram w2
(1) 20 == 2003
(2) 19 =4 2003
(3) 20 HFE 2004
(4) 19 9= 2004

Options :

212807117625. 1
212807117626. 2
212807117627. 3
212807117628. 4

Question Number : 73 Question Id : 21280729408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

USA extended massive financial help for reviving Europe’s war ravaged economy under the :
(1) Lisbon Treaty

(2) Foreign Direct Investment (FDI)
(3) Marshall Plan

(4) European Plan

Options :

212807117629. 1
212807117630. 2
212807117631. 3
212807117632. 4



Question Number : 73 Question Id : 21280729408 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Tg § Hiausd Uy 1 A Teafd =1 gasiifad & 8q st 4 9l wiwH fa<ia e 1 fawno
for s o aed fobam ¢

(1) foem d@fa ()
(2) B SEER FHRHS (TH. Sl 38.)

(3) TR
(4) TR w@H
Options :

212807117629. 1
212807117630. 2
212807117631. 3
212807117632. 4

Question Number : 74 Question Id : 21280729409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

China ended its political and economic isolation with the establishment of relations with the United
States in :

(1) 1971
(2) 1972
(3) 1973
(4) 1974
Options :

212807117633. 1
212807117634. 2
212807117635. 3
212807117636. 4

Question Number : 74 Question Id : 21280729409 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

= T S Terifaer iR aTfeier gerertor o1 9HIH, ST & 91y dey wfyd & ffg ad | faan?
(1) 1971

(2) 1972

(3) 1973

(4) 1974

Options :

212807117633. 1
212807117634.2
212807117635. 3



212807117636. 4

Question Number : 75 Question Id : 21280729410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

SAARC members signed the South Asian free Trade Agreement (SAFTA). The Agreement was
signed in 2004 and came into effect on :
(1) 1 March 2006
(2) 1 January 2006
(3) 1 March 2005
(4) 1 January 2005
Options :
212807117637 1
212807117638. 2

212807117639. 3
212807117640. 4

Question Number : 75 Question Id : 21280729410 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ik <¥l & HeHl A SfHu UREE e SR (T, U U, 2 U,) T s fond | eEid T gEa 2004
¥ gU A SR YHE g3

(1) 1 #2006

(2) 1 SHeRT 2006

(3) 1 ¥ 2005

(4) 1 SR 2005
Options :

212807117637. 1
212807117638. 2
212807117639. 3
212807117640. 4

Question Number : 76 Question Id : 21280729411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The UN was founeded as a successor to the :
(1) League of Nations
(2) Allied Force of Nations
(3) World’s Peace Nation
(4) Nations Association of Peace
Options :
212807117641. 1

212807117642.2
212807117643. 3



212807117644. 4

Question Number : 76 Question Id : 21280729411 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% IAUYHR & Y H HYa T o i TAYA1 T8
(1) T 31 494
(2) TUETES HrH AH T
(3) TS U T
(4) A THIHUIE SfE 9"

Options :

212807117641. 1
212807117642.2
212807117643. 3
212807117644. 4

Question Number : 77 Question Id : 21280729412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which treaty between United States and Soviet Union signed in 1972, tried to stop using missiles
as a defensive shield to launch a nuclear attack ?
(1) Biological Weapons Convention (BWC)
(2) Chemical Weapons Convention (CWC)
(3) Non-Proliferation Treaty (NPT)
(4) Anti Ballistic Missile (ABM) Treaty
Options :
212807117645. 1
212807117646. 2

212807117647. 3
212807117648. 4

Question Number : 77 Question Id : 21280729412 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

form @iftr % ea ol iR Wifgad 9 & o= 1972 § g&mer gu, o 5 <o o wom faeg Jemarest
& STRAY B W RS 1 6 Fed % w9 H e S H U9

(1) = Sifsehel dig=q sevM (. gseg. H1.)

(2) hfHerd di99 ey (Hi. g5, 9.)

(3) FH-TfathEE 2t (T, 0. )

(4) T Seifies fasa 2@ (Tl )

Options :
212807117645. 1




212807117646. 2
212807117647. 3
212807117648. 4

Question Number : 78 Question Id : 21280729413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The Backward and Minority Communities Employees Federation (BAMCEF) was formed in the
year :

(1) 1980
(2) 1987
(3) 1978
(4) 1970
Options :

212807117649. 1
212807117650. 2
212807117651. 3
212807117652. 4

Question Number : 78 Question Id : 21280729413 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

foee o7 vd ofoq Hes gyed wHAn] 99 (& T A i § UR) i T a9 | gg ot :
(1) 1980

(2) 1987

(3) 1978

(4) 1970

Options :

212807117649. 1
212807117650. 2
212807117651. 3
212807117652. 4

Question Number : 79 Question Id : 21280729414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Kyoto Protocol was signed by India in :
(1) September 1997
(2) August 1999
(3) September 2003
(4) August 2002
Options :
212807117653. 1

212807117654. 2
212807117655. 3



212807117656. 4

Question Number : 79 Question Id : 21280729414 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
121 HISiehicl R BRI ol gailer foha 71 2
(1) faarrR 1997
(2) ST 1999
(3) faEamw 2003
(4) ST 2002
Options :

212807117653. 1
212807117654. 2
212807117655. 3
212807117656. 4

Question Number : 80 Question Id : 21280729415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The Rio Summit produced conventions dealing with climate change, biodiversity, forestry, and
recommended a list of developments practices is called :
(1) Antarctic Treaty
(2) Montreal Protocol
(3) Agenda 21
(4) Energy Conservation Act
Options :
212807117657. 1
212807117658. 2

212807117659. 3
212807117660. 4

Question Number : 80 Question Id : 21280729415 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T T | Sieary uftad sia fafasrd i arfrent ik faem &t vgfa & Hdy & us g9t gwqa =t 59
chel 1A :
1) siafesw dfy (FE)

(1)
(2) HifZad Gk
(3) Tsier 21

(4) 1 EE SAfufEm

Options :
212807117657. 1



212807117658. 2
212807117659. 3
212807117660. 4

Question Number : 81 Question Id : 21280729416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The fourth meeting of the World Social Forum (WSF) was held in 2004 in :
(1) Pouto Alegue
(2) Mumbai

(3) Kyoto
(4) New Delhi
Options :

212807117661. 1
212807117662. 2
212807117663. 3
212807117664. 4

Question Number : 81 Question Id : 21280729416 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
faea qmifsi® wRAE (I8 99 BRA) &l Ige 556 a4 2004 H s ol :
(1) Tl 3reid
(2) T==
(3) e
(4) T feedt
Options :

212807117661. 1
212807117662. 2
212807117663. 3
212807117664. 4

Question Number : 82 Question Id : 21280729417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The intensification of the global flow of goods, services, ideas and people is defined as :
(1) Liberalization
(2) Westernization
(3) Globalization
(4) Modernization
Options :
212807117665. 1

212807117666. 2
212807117667 3



212807117668. 4

Question Number : 82 Question Id : 21280729417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e, Fanedi, fam=mi IR <l =i SerSiel i df¥esh Tean 1 aRenfd fen 2
(1) e

(2) URETHIRL

(3) oveteT

(4)  smyfERTERT
Options :

212807117665. 1
212807117666. 2
212807117667. 3
212807117668. 4

Question Number : 83 Question Id : 21280729418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is not a feature of Indian Foreign Policy ?
(1) Nuetrality
(2) Non-Alignment
(3) Opposition to Military Alliances
(4) Panchsheel
Options :
212807117669. 1
212807117670. 2

212807117671. 3
212807117672. 4

Question Number : 83 Question Id : 21280729418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
freifera 5 9 -9t fogoar vyra 1 fagw #ifq =1 721 £ 2
(1) dzea
(2) T g
(3) T ey F fawg
(4) =i

Options :

212807117669. 1
212807117670. 2
212807117671. 3
212807117672. 4



Question Number : 84 Question Id : 21280729419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Name the foreign minister of India in the first Prime Minister Jawahar Lal Nehru's Cabinet :
(1) Maulana Azad

(2) Sardar Vallabh Bhai Patel

(3) Dr. Bhim Rao Ambedkar

(4) Jawahar Lal Nehru

Options :

212807117673. 1
212807117674.2
212807117675. 3
212807117676. 4

Question Number : 84 Question Id : 21280729419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

STETE T 8% & GUH HiFHed H YRd o faew H93 i 92
(1) | TSR

(2) HER FeeHHE Y
(3) B HiHE sTreEET
(4) SIEE A BT

Options :

212807117673. 1
212807117674. 2
212807117675. 3
212807117676. 4

Question Number : 85 Question Id : 21280729420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The key objective of which convention formed in 1992 was to provide an international framework
within future actions could be taken to reduce the threat of global warming ?

(1) UNHCE

(2) UNEP
(3) UNFCCC
(4) UNHCR
Options :

212807117677. 1
212807117678.2
212807117679. 3
212807117680. 4



Question Number : 85 Question Id : 21280729420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Toh ALY HLEA1 3Ueisd Hia & G&A IJ|IT ] ookl & d1 FHIAER 1992 #H a=rn 7= foge
sigta afvas amgfe § & am &g wfasr § SEaE! St s 9 ?

(1) AT TAHE

(2 AR

(3) I T UGl Gl

(4) 9T U= H R

Options :

212807117677. 1
212807117678.2
212807117679. 3
212807117680. 4

Question Number : 86 Question Id : 21280729421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In which of the following cases the Supreme Court devised the innovative doctrine of Basic structure
of the constitution ?

(1) Golak Nath Case Vs state of Punjab
(2) Sajjan Singh Vs state of Rajasthan

(3) Keshvanand Bharati Vs state of Kerela
(4) Miherva Mills Ltd. Vs Union of India

Options :

212807117681. 1
212807117682.2
212807117683. 3
212807117684. 4

Question Number : 86 Question Id : 21280729421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

I=aH e A fefafad 4 9 foeg amd 4 d@faum =1 smuryd 9@ & Fer=ar fagid 1 g Tam
i ?

(1) Tireish 1 o oM G5 T3

(2) TS T I TSEIH 4

(3) HYAFS Al FH L T

(4) Toai faew fa. sAm wiRa 99

Options :
212807117681. 1
212807117682.2




212807117683. 3
212807117684. 4

Question Number : 87 Question Id : 21280729422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following multilateral forums in India is a member of along with USA, Australia and
Japan ?

(1) SAARC
(2) SCO
(3) QUAD
(4) ASEAN
Options :

212807117685. 1
212807117686. 2
212807117687. 3
212807117688. 4

Question Number : 87 Question Id : 21280729422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

freifera # 9 form aguefta wR &1 gew, emde, siefemn it smam afeq wwa ot €2
(1)
(2) THH S

(3) ddre
(4) enfeEar
Options :

212807117685. 1
212807117686. 2
212807117687. 3
212807117688. 4

Question Number : 88 Question Id : 21280729423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The phenomenon of dominant culture influencing and merging the local culture into it, is called :
(1) Homogenisation
(2) Hetuogenization
(3) Hybridization
(4) Modernization
Options :
212807117689. 1

212807117690. 2
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Which one of the following is not a characteristics of Human security ?
(1) Human security is a universal concern
(2) Human security is people centric
(3) Human security means safety from chronic threats as hunger, disease, pollution etc
(4) Human security in state centric
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The Universal Declaration of Human Rights was adopted in the UN General Assembly in which
year ?

(1) 10 December 1945

(2) 10 December 1946

(3) 10 December 1947

(4) 10 December 1948

Options :
212807117697. 1
212807117698. 2

212807117699. 3
212807117700. 4

Question Number : 90 Question Id : 21280729425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

HHa ARl i fagereardt =Svon HYa T 7erE el < fhe ad # sitied @i 7 2
(1) 10 feHm 1945
(2) 10 feor= 1946
(3) 10 feHr 1947
(4) 10 femw=T 1948

Options :

212807117697. 1
212807117698. 2
212807117699. 3
212807117700. 4

Sub-Section Number : 2
Sub-Section Id : 2128072133
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 91 Question Id : 21280729426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl




See the cartoon and answer the following question :
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Name the leader who is trying to resolve the problem of merger of the princely states ?
(1) C. Rajagopalachari

(2) Sardar Vallabhai Patel

(3) Jawaharlal Nehru

(4) Deen Dayal Upadhyaya
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See the cartoon and answer the following question :
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Name the princely state which announced independence first **

(1) Travancore

(2) Hyderabad

(3) Manipur

(4) Jammu & Kashmir
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See the cartoon and answer the following question :
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In this cartoon, the leader what is demanding from the under of princely states ?

(1) External Affairs
(2) Agriculture
(3) Finance

(4) Law and order
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See the cartoon and answer the following question :
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The ruler of Hyderabad carried the title of :
(1) Prince
(2) King
(3) Nizam
(4) Crown
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See the cartoon and answer the following question :
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Name the document which was signed between union of India and pricely states to become the

part of India :

(1) Instrument of Autonomy
(2) Instrument of Accession
(3) Instrument of Merger

(4) Standstill Agreements

Options :
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Read the passage and answer the following queston :
Non - Traditional Notions

Non-traditional notions of security go beyond military threats to include a wide range of
threats and dangers affecting the conditions of human existence. They begin by questioning the
traditional referent of security. In doing so, they also question the other three elements of security-
what is being secured, from what kind of threats and the approach to security. When we say
referent we mean ‘Security for who?’ In the traditional security inception, the referent is the state
with its territory and governing institutions. In the non-traditional conceptions, the referent is
expanded. When we ask ‘Security for who ?° Proponents of non-traditional security reply ‘Not
just the state but also individuals or communities or indeed all of humankind’. Non-traditional
views of security have been called “human security” or “global security’.

Human Security is about the protection of people more than the protection of states. Human
security and state security should be - and often are - the same thing. But secure states do not
automatically mean secure peoples. Protecting citizens from foreign attack may be a necessary
condition for the security of individuals, but it is certainly not a sufficient one. Indeed, during the
last 100 years, more people have been killed by their own governments than by foreign armies.

All proponents of human security agree that its primary goal is the protection of individuals.
However, there are differences about precisely what threats individuals should be protected from.
Proponents of the ‘narrow’ concept of human security focus on violent threats to individuals or, as
former UN Secretary-General Kofi Annan puts it, “The protection of communities and individuals
from internal violence”. Proponents of the ‘broad’ concept of human security argue that the threat
agenda should include hunger, disease and natural disasters because these kill far more people
than war, genocide and terrorism combined. Human security policy, they argue, should protect
people from these threats as well as from violence. In its broadest formulation, the human security
agenda also encompasses economic security and “threats to human dignity’. Put differently, the
broadest formulation stresses what has been called ‘freedom from want’ and ‘freedom from fear’,
respectively.

The idea of global security emerged in the 1990s in response to the global nature of threats
such as global warming, international terrorism, and health epidemics like AIDS and bird flu and
so on. No country can resolve these problem alone. And, in some situations, one country may
have to disproportionately bear the brunt of a global problem such as environmental degradation.
For example, due to global warming, a sea level rise of 1.5-2.0 meters would flood 20 percent of
Bangladesh, inundate most of the Maldives, and threaten nearly half the population of Thailand.
Since these problems are global in nature, international cooperation is vital, even though itis difficult
to achieve.

How did scholars define non-tradition security ?
(1) State security
(2) Human security or global security

(3) Sovereignty
(4) Territory
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Read the passage and answer the following queston :
Non - Traditional Notions

Non-traditional notions of security go beyond military threats to include a wide range of
threats and dangers affecting the conditions of human existence. They begin by questioning the
traditional referent of security. In doing so, they also question the other three elements of security-
what is being secured, from what kind of threats and the approach to security. When we say
referent we mean ‘Security for who?’ In the traditional security inception, the referent is the state
with its territory and governing institutions. In the non-traditional conceptions, the referent is
expanded. When we ask ‘Security for who ?* Proponents of non-traditional security reply “Not
just the state but also individuals or communities or indeed all of humankind’. Non-traditional
views of security have been called "human security” or “global security’.

Human Security is about the protection of people more than the protection of states. Human
security and state security should be - and often are - the same thing. But secure states do not
automatically mean secure peoples. Protecting citizens from foreign attack may be a necessary
condition for the security of individuals, but it is certainly not a sufficient one. Indeed, during the
last 100 years, more people have been killed by their own governments than by foreign armies.

All proponents of human security agree that its primary goal is the protection of individuals.
However, there are differences about precisely what threats individuals should be protected from.
Proponents of the “narrow” concept of human security focus on violent threats to individuals or, as
former UN Secretary-General Kofi Annan puts it, “The protection of communities and individuals
from internal violence”. Proponents of the “broad’ concept of human security argue that the threat
agenda should include hunger, disease and natural disasters because these kill far more people
than war, genocide and terrorism combined. Human security policy, they argue, should protect
people from these threats as well as from violence. In its broadest formulation, the human security
agenda also encompasses economic security and “threats to human dignity’. Put differently, the
broadest formulation stresses what has been called ‘freedom from want” and ‘freedom from fear’,
respectively.

The idea of global security emerged in the 1990s in response to the global nature of threats
such as global warming, international terrorism, and health epidemics like AIDS and bird flu and
so on. No country can resolve these problem alone. And, in some situations, one country may
have to disproportionately bear the brunt of a global problem such as environmental degradation.
For example, due to global warming, a sea level rise of 1.5-2.0 meters would flood 20 percent of
Bangladesh, inundate most of the Maldives, and threaten nearly half the population of Thailand.
Since these problems are global in nature, international cooperation is vital, even though itis difficult
to achieve.

When did the notion of Global security emerge ?

(1) 1990s

(2) 1970s
(3) 1950s
(4) 1980s
Options :
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Read the passage and answer the following queston :
Non - Traditional Notions

Non-traditional notions of security go beyond military threats to include a wide range of
threats and dangers affecting the conditions of human existence. They begin by questioning the
traditional referent of security. In doing so, they also question the other three elements of security-
what is being secured, from what kind of threats and the approach to security. When we say
referent we mean “Security for who?’ In the traditional security inception, the referent is the state
with its territory and governing institutions. In the non-traditional conceptions, the referent is
expanded. When we ask ‘Security for who ?° Proponents of non-traditional security reply ‘Not
just the state but also individuals or communities or indeed all of humankind’. Non-traditional
views of security have been called “human security” or “global security’.

Human Security is about the protection of people more than the protection of states. Human
security and state security should be - and often are - the same thing. But secure states do not
automatically mean secure peoples. Protecting citizens from foreign attack may be a necessary
condition for the security of individuals, but it is certainly not a sufficient one. Indeed, during the
last 100 years, more people have been killed by their own governments than by foreign armies.

All proponents of human security agree that its primary goal is the protection of individuals.
However, there are differences about precisely what threats individuals should be protected from.
Proponents of the ‘narrow’ concept of human security focus on violent threats to individuals or, as
former UN Secretary-General Kofi Annan puts it, “The protection of communities and individuals
from internal violence”. Proponents of the ‘broad’ concept of human security argue that the threat
agenda should include hunger, disease and natural disasters because these kill far more people
than war, genocide and terrorism combined. Human security policy, they argue, should protect
people from these threats as well as from violence. In its broadest formulation, the human security
agenda also encompasses economic security and “threats to human dignity’. Put differently, the
broadest formulation stresses what has been called ‘freedom from want” and ‘freedom from fear’,
respectively.

The idea of global security emerged in the 1990s in response to the global nature of threats
such as global warming, international terrorism, and health epidemics like AIDS and bird flu and
so on. No country can resolve these problem alone. And, in some situations, one country may
have to disproportionately bear the brunt of a global problem such as environmental degradation.
For example, due to global warming, a sea level rise of 1.5-2.0 meters would flood 20 percent of
Bangladesh, inundate most of the Maldives, and threaten nearly half the population of Thailand.
Since these problems are global in nature, international cooperation is vital, even though itis difficult
to achieve.

Which one of the following is a non-traditional threat ?
(1) War between two states

(2) Global warming

(3) Aggressive nationalism

(4) Protection

Options :
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Read the passage and answer the following queston :
Non - Traditional Notions

Non-traditional notions of security go beyond military threats to include a wide range of
threats and dangers affecting the conditions of human existence. They begin by questioning the
traditional referent of security. In doing so, they also question the other three elements of security-
what is being secured, from what kind of threats and the approach to security. When we say
referent we mean ‘Security for who?’ In the traditional security inception, the referent is the state
with its territory and governing institutions. In the non-traditional conceptions, the referent is
expanded. When we ask ‘Security for who ?* Proponents of non-traditional security reply “Not
just the state but also individuals or communities or indeed all of humankind’. Non-traditional
views of security have been called "human security” or “global security’.

Human Security is about the protection of people more than the protection of states. Human
security and state security should be - and often are - the same thing. But secure states do not
automatically mean secure peoples. Protecting citizens from foreign attack may be a necessary
condition for the security of individuals, but it is certainly not a sufficient one. Indeed, during the
last 100 years, more people have been killed by their own governments than by foreign armies.

All proponents of human security agree that its primary goal is the protection of individuals.
However, there are differences about precisely what threats individuals should be protected from.
Proponents of the ‘narrow” concept of human security focus on violent threats to individuals or, as
former UN Secretary-General Kofi Annan puts it, “The protection of communities and individuals
from internal violence”. Proponents of the “broad’ concept of human security argue that the threat
agenda should include hunger, disease and natural disasters because these kill far more people
than war, genocide and terrorism combined. Human security policy, they argue, should protect
people from these threats as well as from violence. In its broadest formulation, the human security
agenda also encompasses economic security and “threats to human dignity’. Put differently, the
broadest formulation stresses what has been called ‘freedom from want’ and ‘freedom from fear’,
respectively.

The idea of global security emerged in the 1990s in response to the global nature of threats
such as global warming, international terrorism, and health epidemics like AIDS and bird flu and
so on. No country can resolve these problem alone. And, in some situations, one country may
have to disproportionately bear the brunt of a global problem such as environmental degradation.
For example, due to global warming, a sea level rise of 1.5-2.0 meters would flood 20 percent of
Bangladesh, inundate most of the Maldives, and threaten nearly half the population of Thailand.
Since these problems are global in nature, international cooperation is vital, even though itis difficult
to achieve.

Which one of the following is in the list of ‘broad concept of human security ?
(1) Hunger

(2) Alliance Building

(3) Military thrats

(4) Balance of Power
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IComprehension |C0mp2

Read the passage and answer the following queston :
Non - Traditional Notions

Non-traditional notions of security go beyond military threats to include a wide range of
threats and dangers affecting the conditions of human existence. They begin by questioning the
traditional referent of security. In doing so, they also question the other three elements of security-
what is being secured, from what kind of threats and the approach to security. When we say
referent we mean “Security for who?’ In the traditional security inception, the referent is the state
with its territory and governing institutions. In the non-traditional conceptions, the referent is
expanded. When we ask ‘Security for who ?° Proponents of non-traditional security reply ‘Not
just the state but also individuals or communities or indeed all of humankind’. Non-traditional
views of security have been called “human security” or “global security’.

Human Security is about the protection of people more than the protection of states. Human
security and state security should be - and often are - the same thing. But secure states do not
automatically mean secure peoples. Protecting citizens from foreign attack may be a necessary
condition for the security of individuals, but it is certainly not a sufficient one. Indeed, during the
last 100 years, more people have been killed by their own governments than by foreign armies.

All proponents of human security agree that its primary goal is the protection of individuals.
However, there are differences about precisely what threats individuals should be protected from.
Proponents of the ‘narrow’ concept of human security focus on violent threats to individuals or, as
former UN Secretary-General Kofi Annan puts it, “The protection of communities and individuals
from internal violence”. Proponents of the ‘broad’ concept of human security argue that the threat
agenda should include hunger, disease and natural disasters because these kill far more people
than war, genocide and terrorism combined. Human security policy, they argue, should protect
people from these threats as well as from violence. In its broadest formulation, the human security
agenda also encompasses economic security and “threats to human dignity’. Put differently, the
broadest formulation stresses what has been called ‘freedom from want” and ‘freedom from fear’,
respectively.

The idea of global security emerged in the 1990s in response to the global nature of threats
such as global warming, international terrorism, and health epidemics like AIDS and bird flu and
so on. No country can resolve these problem alone. And, in some situations, one country may
have to disproportionately bear the brunt of a global problem such as environmental degradation.
For example, due to global warming, a sea level rise of 1.5-2.0 meters would flood 20 percent of
Bangladesh, inundate most of the Maldives, and threaten nearly half the population of Thailand.
Since these problems are global in nature, international cooperation is vital, even though itis difficult
to achieve.

Human Security is concerned with :
(1) Protection of people
(2) Protection of states
(3) Protection from war
(4) Protection from accidents
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The problem of sex-selective abortions is due to :
(1) delay in marriage
(2) lack of resources
(3) social attitudes
(4) infertility
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The broad objective of National Family Planning Programme :
(1) To increase the rate of population growth
(2) To manage the rate and pattern of population growth
(3) To restrict the use of birth control measures
(4) To introduce coercive measures of mass strerilisation
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Arrange the f(}iiowing in descending order :

(A) Block

(B) Village

(C) Dastrict

(D) Tehsil

(E) Sub-division

Choose the correct answer from the options given below :

(1) (O, (D), (E), (A), (B)

(2 (©), (B), (D), (A), (B)
(3)  (B) (©), (D) (B), (A)
(4) (A4), (B), () D), (E)
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According to Malthus famines and drought are important to control population growth. They are
called :

(1) Negative checks
(2) Preventive checks
(3) DPositive checks

(4) Geometric checks
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Pushkar fair in Rajasthan in an example of :
(1) Goat fair

(2) Horse fair

(3) Camel fair

(4) Cow fair
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What is the form of family found in Khasi Society ?
(A) Patriarchal

(B) Matriarchal

(C) Matrilocal

(D) Matrilineal

(E

Choose the correct answer from the options given below :
(1) (B), (©), (D) Only

(2)  (A) (O, (D) Only

(3)  (B), (D), (E) Only

4) (©, (D) (E) Only

Options :
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Jajmani system is :

(1) Market exchange system

(2) Barter economy

(3) Non-market exchange system
(4) Bonded labour system

Options :

212807117765. 1
212807117766. 2
212807117767. 3
212807117768. 4

Question Number : 107 Question Id : 21280729442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
STSTHIAT WoTedt 321 2 7

(1) =R faf=g gore
(2) o fafaaa gored
(3) R-=eR fafa
(4) SYS TG WOTTeAl

Options :



212807117765. 1
212807117766. 2
212807117767. 3
212807117768. 4

Question Number : 108 Question Id : 21280729443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The concept in List - I with explanation in List - IL

List - I List - IT
Concept Explanation
(A) Matrilineal (I)  newly married couple stays with wife’s family
(B) Neolocal (II) newly married couple stays with husband’s family
(C€) Patrilocal (III) newly married couple sets up a new home
(D) Matrilocal (IV) Women inherit property from their mother

Choose the correct answer from the options given below :

(1) (A)-(10), (B)-(T), (O)-(1I), (D)-(IV)
(2)  (A)-IV), (B)-(II), (C)-(D), (D)-(III)
(3)  (A)-(IV), (B)-(IID), (C)-(II), (D)-(T)
(4)  (A)-(D), (B)-(IT), (C)-(IID), (D)-(IV)
Options :

212807117769. 1
212807117770. 2
212807117771. 3
212807117772. 4

Question Number : 108 Question Id : 21280729443 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el - 1 o1 FEt - 11 %1 faam s
T - 11

el - 1
(A) Hgasi () afgered <afa gl ®i 9 % wRER F @ T T
(B) Teenfen (1) afeefed Sufd afd & 9REr % Wy @@ T
(C) Tageenfer (IT) Fafaenfed Sufd T 41 =L S S
(D) Hgenfis V) wHfeand syoet o7 ot geafa & STUfisn urd w2 |

H= fou o famedi § 9 W& S 1 999 Fifeu |

(1) (A, (B)-(1), (O-(V), (D)-(I)
(2)  (A)HIV), (B)-(1), (C)-(D), (D)-(II)
(3)  (A)-AV), (B)(II), (O)-(1), (D)-(D)
(4)  (A)-(0), (B)}-(IN), (O)-(II), (D)-(IV)

Options :



212807117769. 1
212807117770. 2
212807117771. 3
212807117772. 4

Question Number : 109 Question Id : 21280729444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match the books in List - I with the authors in List - II.
List - 1 List - IT
Books Authors
(A) Caste today ()~ MLN. Srinivas
(B) Caste : It's Modern Avatar (II) Anthony Giddens
(C€) Invisible Man (II) C.J. Fuller
(D) Sociology (IV) R. Ellison

Choose the correct answer from the options given below :
(1) (A1), (B)-(IID), (O)-(1), (D)-(IV)

(2) (A)-1D), (B)-(I), (O)-(II), (D)-(IV)

(3)  (A)-(D), (B)-(II), (O)-(II), (D)-(IV)

(4)  (A)-(1D), (B)-(I), (O)-(IV), (D)-(II)

Options :

212807117773. 1

212807117774.2

212807117775. 3
212807117776. 4

Question Number : 109 Question Id : 21280729444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el - 1 &1 Gt - 11 %1 faem s
el - 1 T - 11

(A) &R IS () TR, gifEm
(B) R : 32Y HigH 3T&aR () g firdw
(C) gAfafsEe 39 (III) .S, Fer
(D) HrErrsi R, A

ﬁ%ﬁqmﬁmﬁﬁﬁuﬁwwmﬁﬁm

(1) (A0, (B)}-(I), (O-(D), (D)-(IV)
(2) (A1), (B)-(1), (O-(1D), (D)-(IV)
(3)  (A)-(), (B)-I0), (O, (D)-(IV)
(4) (A1), (B)-(1), (O-(V), (D)-(II)

Options :



212807117773. 1
212807117774.2
212807117775. 3
212807117776. 4

Question Number : 110 Question Id : 21280729445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Policies that are aimed at persuading or forcing all citizens to adopt a uniform set of cultural
values and norms :

(1) Cosmopolitanist
(2) Pluralist
(3) Assimilationist
(4) Acculturist
Options :
212807117777. 1
212807117778.2

212807117779. 3
212807117780. 4

Question Number : 110 Question Id : 21280729445 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g el foreret 329 Tt ATt &1 T Fitssfass Tedl ST Ifaami &1 ST % g T =1 Hergl
T, FEART © :
e siifemare

(4) TRGEHITURUERE!

Options :

212807117777. 1
212807117778.2
212807117779. 3
212807117780. 4

Question Number : 111 Question Id : 21280729446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Self governance institutions in Urban areas has been provided under which constitutional
amendment ?

(1) 93" Amendment

(2) 74% Amendment

(3) 73'9 Amendment

(4) 64" Amendment

Options :

212807117781. 1

212807117782. 2

212807117783. 3
212807117784. 4

Question Number : 111 Question Id : 21280729446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

vt el § T gl o wayH Ry dfaem ety o fem g2
(1) 93 & |l
(2) 74790 HOEA
(3) 739 HeneA
(4) 647 HOEA
Options :
212807117781. 1
212807117782.2

212807117783. 3
212807117784. 4

Question Number : 112 Question Id : 21280729447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the distribution of religious minorities in India in a descending order of population :
(A) Jains
(B) Buddhist

(C) Sikhs
(D) Christians
(E) Muslims

Choose the correct answer from the options given below :

(1) (B), (D), (©), (B), (A)
(2)  (A), (B), (Q) (D), (E)
3) (B (D), (©), (A), (B)
(4) (D) (B), (C) (B), (A)
Options :

212807117785. 1
212807117786. 2
212807117787. 3



212807117788. 4

Question Number : 112 Question Id : 21280729447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g H a1t AedeTs & faaeor Sl SHEEn & sTalE w9 1§ safed sifeu |

(B) g
(C) faam
(D) &
(E) 9quaHH
= feu Tu fasedi § 9 H& ST &1 999 S |
(1) (E), (D), (C), (B), (A)
(2)  (A), (B), (©), (D), (E)
(3) (E) (D), (©), (A), (B)
(4) (D) (B), (C), (B), (A)
Options :

212807117785. 1
212807117786. 2
212807117787. 3
212807117788. 4

Question Number : 113 Question Id : 21280729448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Civil Society is the name given to the broad area which lies outside the domain of :
(1) Private enterprise

(2) Public enterprise

(3) State and Market

(4) Government

Options :

212807117789. 1
212807117790. 2
212807117791. 3
212807117792. 4

Question Number : 113 Question Id : 21280729448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




AT FHS i H1 Tk T &9 hla T T, S & fererr &3 F oTer feod €6 2
(1) sl 3usHH
(2) HIHRI 3UHH
(3) TS SR ATSIN
(4) TIHER
Options :
212807117789. 1
212807117790. 2

212807117791. 3
212807117792. 4

Question Number : 114 Question Id : 21280729449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first society that underwent industrialisation :
(1) Britain

(2) Germany

(3) United States

(4) France

Options :
212807117793. 1
212807117794. 2

212807117795. 3
212807117796. 4

Question Number : 114 Question Id : 21280729449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

a8 YYH FHS ST SN R & SR T
(1) foe

(2) Al

(3) HIHTH
(4)
Options :
212807117793. 1
212807117794. 2

212807117795. 3
212807117796. 4

Question Number : 115 Question Id : 21280729450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The concept of sanskritization has been criticised for the following :
(A) It results in the adoption of upper caste rituals

(B) It erodes dalit culture

(C) Itis different in different places

(D) It restricts women’s mobility

(E) It allows equality and inclusion

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

(2)  (A), (O, (E) Only
(3) (A), (B), (C) Only
(4)  (A), (D), (E) Only
Options :

212807117797. 1
212807117798. 2
212807117799. 3
212807117800. 4

Question Number : 115 Question Id : 21280729450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Hepfaerm &t srauron =t Fefafed % faw sremm = T
(A) TEF HRU S WG F FHHRUS I WiwR fFan ™1 T
(B) 3EH <ferd HEHfd =1 <o Brel €

(C) TE A3 T T S-S YhR h |

(D) =99 Afgensdl 1 STaTsEl W gfder+ &l 8 |

(E) 1€ TMal o q9191 & fedmrdt 21

== feu e foswedl O 9 U8t ST F1 =g HifaT |

(1) = (A), (B), (D)

(2) =@ (A), Q) E
(3) %A@ (A), (B), (C
(4) =@ (A), (D), (E)
Options :

212807117797. 1

212807117798.2

212807117799. 3
212807117800. 4

Question Number : 116 Question Id : 21280729451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




On whose behalf does ASSOCHAM works ?
(1) Workers
(2) Industrialists
(3) Agricultural labourers
(4) Informal workers
Options :
212807117801 1
212807117802. 2

212807117803. 3
212807117804. 4

Question Number : 116 Question Id : 21280729451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
ASSOCHAM ferdeh! 3T & T8 Il 872
(1) MR
(2) ERTIf
(3) Hfuaffs
(4)  STFTIAIE HER
Options :

212807117801. 1
212807117802. 2
212807117803. 3
212807117804. 4

Question Number : 117 Question Id : 21280729452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match nature of work in List - I with the associated sector in List - II.

List - 1 List - II
Work Sector
(A) Units employing 10 or more people ()  Tertiary sector
(B) Travel Industry () Secondary sector
(C) Agriculture & Mining (IlI) Organised sector
(D) Construction & Manufacturing (IV) Primary sector

Choose the correct answer from the options given below :

(1) (A)-I), (B)-1), (O-(V), (D)-(II)

(2)  (A)-0), (B)-(III), (O-(I), (D)-(IV)
(3)  (A)-(D), (B)-(I), (C)-(I0), (D)-(IV)
(4)  (A)-(I0), (B)-(1V), (C)-(I), (D)-(IT)
Options :

212807117805. 1
212807117806. 2



212807117807. 3
212807117808. 4

Question Number : 117 Question Id : 21280729452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - 1% W9 G - 11 e wifs)
ekl - 1 T - 11

(A) 1071 e ART =l TSR () o TR
& @l g

(B) 9T S (i faedfta e

(C) HfW AR I+ (1) fed e

(D) Tafor i fafafo (IV) 9o e

= feu U fawedi © 9 W@ S &1 994 SN

(1) (A)-UD), (B)-(I), (O-(IV), (D)-(I)
(2)  (A)-D), (B)-(I), (O)-(ID), (D)-(IV)
(3)  (A)-(), (B)-(IN), (C)-(III), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (O)-(0), (D)-(1T)
Options :

212807117805. 1
212807117806. 2
212807117807. 3
212807117808. 4

Question Number : 118 Question Id : 21280729453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Who has written the essay “On Liberty”, depicting the struggle for equality and liberty in Europe
and America ?

(1) Abraham Lincoln
(2) Benedict Anderson
(3) Martin Luther King
(4) John Stuart Mill

Options :

212807117809. 1
212807117810.2
212807117811. 3
212807117812. 4

Question Number : 118 Question Id : 21280729453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




“ ot faeet ! e ey foram foran &, ford 23 oiR smfiem & gomar 3t Tedsa & fou ged o6 auH

(2) wHfede detdd

(3) =IfeT qer foh

(4) SH R o
Options :

212807117809. 1
212807117810. 2
212807117811.3
212807117812. 4

Question Number : 119 Question Id : 21280729454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following statements that reflect step-wise process of Bidi making :
(A) Villagers pluck tendu leaves and sell it to the forest department

(B) Contractor collects the bidis and sells them to the manufacturer who puts his own brand
label

(C) Government auction leaves to bidi factory owners who give it to the contractor, who suppliers
tobacco and leaves to home based worker’s

(D) Mostly women roll the bidis and tie them with thread in bundles

(E) Distributor receives packed bidis from manufacturers and distributes to the wholesaler
Choose the correct answer from the options given below :

(1) (A, (B), (©), (D). (E)

(2)  (A) (D), ©) (B) E)
(3) (A (O, (D). (B), (E)
4) (O, (A), (D) E) (B)

Options :

212807117813. 1
212807117814. 2
212807117815. 3
212807117816. 4

-

r

Question Number : 119 Question Id : 21280729454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




gt faio &t =Ru-ar gferan 1 29ia 9t frefafaa swrol o sraferd sifew)

(A) TTH 8 TR drgaR 94 faam R S E

(B) SeR sifeal Hufea s fafmiaiet 1 sea € S o1u sive ofed & €1

(C) TR uferar Theredt Tfereni 1 feim Tl § S 38 IheR ol 0 § 37X SR r g iR afal Te-
SN TR d%F 9g=rd 2

(D) sifereriera wfgemd sifeal o & 3R 5% emit @ st nfgal s ¥ )

(B) foaws sifedi =1 fafimmmsii @ @ o =mfeE & dfaafa #2 €)

= fou o famedi § 4 W& SO F TI9 Hifed |

(1) (&), (B), (©), (D). ()
(2)  (A), (D), (©), (B), (E)
(3) (A (O, (D). (B), (E)
4) (O, (A), (D) E), (B)

Options :

212807117813. 1
212807117814.2
212807117815.3
212807117816. 4

Question Number : 120 Question Id : 21280729455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the incorrect statement :

(1) Digital India is a programme to improve global interconnectedness

(2) Every exchange in Digital India would incorporate digitisation

(3) Digital India is a barrier to transform India into a knowledge economy
(4) The process of globalisation has given rise to network and media society

Options :

212807117817. 1
212807117818.2
212807117819. 3
212807117820. 4

Question Number : 120 Question Id : 21280729455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T H2H 1 T

(1) fefSea fean dfvas siatamram & GurR w07 #1 FEHA T

(2) Tefsea sfean § v fafmg =t fefsediteto § wfae fean smom

(3) Tefoea 3fean vwra &1 91 i sieferewen # ufiafda & H T = ¥
(4) HUETISROT 1 FRFA A Sead o Hifew gus 91 5= e g

Options :




212807117817. 1
212807117818.2
212807117819. 3
212807117820. 4

Question Number : 121 Question Id : 21280729456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The group which has not suffered from social inequality and exclusion ?
(1) Dalits

(2) Adivasis

(3) Differently abled

(4) Upper Castes

Options :

212807117821. 1
212807117822.2
212807117823. 3
212807117824. 4

Question Number : 121 Question Id : 21280729456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
% Hqe e s Sremmar Sit sTest <91 6 e ©
(1) =fed
(2) erifcemsEt
(3) fesaisH
(4) S wfaar
Options :

212807117821. 1
212807117822.2
212807117823. 3
212807117824. 4

Question Number : 122 Question Id : 21280729457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The isolationist debate regarding tribals argued protection from :
(A) Money lenders

(B) Traders

(C) Police

(D) Industry

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (B)and (D) only

(3) (A) and (D) only

(4)  (A) and (B) only

Options :

212807117825. 1

212807117826. 2

212807117827. 3
212807117828. 4

Question Number : 122 Question Id : 21280729457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

S % TR H Ui ae-faare § faad dem w1 feamd # S
HeEii |

(B) eIl 9
qfer |

(D) ETH

== feu U fomedi § 9 W@ ST F1 994 FifNu |

(1) 9 (A) R ()

(2) (B)aiﬁ(

(3) A (A) TR (D)

(4) FIA (A) R (B)

Options :

2128071178251
212807117826.2
212807117827. 3
212807117828. 4

Question Number : 123 Question Id : 21280729458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Social inequality and exclusion are social because :

(A) They are about individuals

(B) They are about non economic

(C) They are about economic only

(D) They are about groups

Choose the correct answer from the options given below :
(1) (B) and (D) only

(2) (B)and (C) only
(3) (B)and (A) only
(4) (A)and (C) only
Options :

212807117829. 1

212807117830. 2

212807117831. 3
212807117832. 4

Question Number : 123 Question Id : 21280729458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

QrATFSIeh SFAAMAAT 7R STUarsi o] GTHIfSTeh 9= Sl § F3ife
(A) S Gaie sAfgEt | ¥

(B) a1 Helel T-anifeler hraf %1

(C) 3kl Hai®l hael Tl Edl | B

(D) S Gaiel HEl 4 1

== feu U faeshedl § 9 Wel 3T 1 =94 FHifeg |

(1) < (B) 31 (D)

(2) e (B) 3R ()

(3) W(Bwﬂ?()
(4) e (A) $R(Q)

Options :

212807117829. 1
212807117830. 2
212807117831. 3
212807117832. 4

Question Number : 124 Question Id : 21280729459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The characteristic of a nation-state includes :
(1) Common political institutions and geographical boundary
(2) Common geographical boundary and common language
(3) Common political institutions and single religion
(4) Common geographical boundary and common history
Options :
212807117833, 1
212807117834.2

212807117835. 3
212807117836. 4

Question Number : 124 Question Id : 21280729459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-7 1 ferdroened # wfoet §

(1) T Tsifde HEIM SR driferss =
(2) e siriiferss HmT S TEE AT

(3) TS TSTaeh S iR U o
(4) TTen siifes Him 2R T e

Options :

212807117833. 1
212807117834. 2
212807117835. 3
212807117836. 4

Question Number : 125 Question Id : 21280729460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The reformers in List-1 with their contribution in List-IL

List-I List-11
Social Reformers Contribution
(1) Savitribai Phule () Worked for Upliftment of Dalits
(2) Raja Ram mohan Roy (I)  Worked for Upliftment of Muslim women’s education
(3) Jotiba Phule (IT) Worked for women’s education
(4) Syed Ahmad Khan (IV) Worked for abolishing Sati

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(IV), (O)-(), (D)-(IT)
(2)  (A)-[ )()(I)()()()(IH)
(3)  (A)-(0), (B)-(1), (O)-(1V), (D)-(II)
(4)  (A)-(D, (B)-(), (O)-(IV), (D)-(1D)
Options :

212807117837. 1
212807117838.2
212807117839. 3
212807117840. 4



Question Number : 125 Question Id : 21280729460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g - 1% |y g4l - 11 6 fqad sifs)
T - 1 gl - 11
() <fed o Jear o fore s Tk
(1) THe™ Afgensd & S & fae & feam
C) Hifqan Fe (IT1) wfeensd =1 T2 = foag s fom)
(IV) §fd 921 % 3 & foe wri fon
== fqu o faskedi § 9§ A& SR 1 =999 SIS
(1) (A)-(ID), (B)-(IV), (O)-O), (D)-(II)

(2)  (A)-AV), (B)-(1), (©)-(11), (D)-(II)
(3) (A, (B)}-(IN), (O)-(IV), (D)-(II)
(4)  (A)-(10), (B)-(1), (O)-(IV), (D)-(II)
Options :

212807117837. 1
212807117838.2
212807117839. 3
212807117840. 4

Question Number : 126 Question Id : 21280729461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following statements as per their time of occurence in ascending order :
(A) Publication of Sambad Kaumudi by Raja Rammohan Roy

(B) Doordarshan was the only state TV channel

(C) All India Radio acquired Vividh Bharati

(D) Television programme was used to promote rural development in India

(E) Satellite television channels multipled rapidly

Choose the correct answer from the options given below :

1) (A), (C): (D), (B), (E)

(2 (B) (O, (D), (A), (B)
3)  (A) (B), (D). (©), (E)
(4)  (A). (O, (D), (E), (B)

Options :

212807117841. 1
212807117842.2
212807117843. 3
212807117844. 4

Question Number : 126 Question Id : 21280729461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frrferfiad emt @ 5% Hfed 3 STER e %0 § wEften Fi
(A) USTUHHIEA T gR1 HaTG Shigal ol e |

(B) TXEEIA U TIE TWIHE AL e o |

(C) it sfean dea 7 fafay wrdt =1 sifeufea foram

(

(

—

D) sTRa H Tty faeser & Heeda & fora Sefifes rfewn w1 seare fehan
E) Heese =al o iaitd § fawar g
== feu U faesredi | 9 W&t 39T 1 T4 Fi)

(1) A (©), (D), (B), (E)
(2)  (B), (©), (D) (A), (E)
(3) (A), (B), (D), (O, (E)
(4) (A (©), (D), (), (B)
Options :

212807117841. 1
212807117842.2
212807117843. 3
212807117844. 4

Question Number : 127 Question Id : 21280729462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Information on how many types of disabilities was collected in the ceusus 2011.
(1) 10

(2) 8
3 6
4 9
Options :

212807117845. 1
212807117846. 2
212807117847. 3
212807117848. 4

Question Number : 127 Question Id : 21280729462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




SUET 2011 H foRas WehR okl fashaliTal Haifed =1 Ui anl T off ?

(1) 10
(2) 8
(3) 6
4) 9
Options :

212807117845. 1
212807117846. 2
212807117847. 3
212807117848. 4

Question Number : 128 Question Id : 21280729463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Peasants Movements have been taking place since pre-independent India. Arrange chronologically
from oldest to newest.

(A) Bengal Revolt

(B) Bardoli Satyagraha

(C) Naxal Movement

(D) New Farmer’s Movement

(E) Telengana Movement

Choose the correct answer from the options given below :

(1) (©), (4A), (B), (E), (D)

(2) (D), (A), (B), (E), ()
(3)  (A), (B) (E), (©), (D)
(4)  (A), (B) (©) (D), [E)

Options :

212807117849. 1
212807117850. 2
212807117851. 3
212807117852. 4

Question Number : 128 Question Id : 21280729463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




WA H i gd § foREr ST<ier B @ § | 5% WEaH § TEad o shH § SFaied it ?
A) s fage

B) dRaIc HARE

BERGHE HIGE]

D) Ta-%uF e

E) el e

== fou U fashedl § 9 W& ST 1 =997 Hifou ;

- e

(
(
(C
(
(

—

(1) (©), (A) (B), (E), (D)
(2) (D), (A), (B), (B), (©)
(3) (A), (B), (E), (O), (D)
(4) (A) (B), (©) (D), (E)
Options :

212807117849. 1
212807117850. 2
212807117851. 3
212807117852. 4

Question Number : 129 Question Id : 21280729464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following are true for knowledge economy ?
(A) It creates tertiary sector jobs

(B) It produces goods that can not be touched

(C) It creates network society

(D) It is dependent of agriculture

(E) It is manual labour intensive

Choose the correct answer from the options given below :
(1) (B), (C), (D) only

(2) (A), (B), (E) only

(3) (A), (B), (O only

(4) (B) (D), () only

Options :

212807117853. 1

212807117854. 2

212807117855. 3
212807117856. 4

Question Number : 129 Question Id : 21280729464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




M senfi ovef syeen & fau fefafeg § 4 F9-9 98 €2
A)  THY g & 1 ARl S gor S |
B) TUY UH U/e o9R Bl & ford w9l et fopan < wekan |

%
3
|
3
i
2

D) % &f¥ 9 smenfid 7

(
(
(C
(
(E) SHH A g9 &1 Sfeehd Bl 2 |

(1) e (B), (C) ¥R (D)
(2) e (A), (B) R (E)
(3) a (A), (B) M (Q)
(4) e (B), (D) ¥ (E)
Options :

212807117853. 1
212807117854.2
212807117855. 3
212807117856. 4

Question Number : 130 Question Id : 21280729465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the important resource required to yield productivity of HYV seeds ?
(1) Land

(2) Water

(3) Fertile Soil

(4) Desert Soil

Options :

212807117857. 1
212807117858.2
212807117859. 3
212807117860. 4

Question Number : 130 Question Id : 21280729465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

HYV Sl %l UER 3ceehdl & fau wiH-91 8 g8 iy ageyu 22
(1)

(2) =

(3) eI
(4) e ga



Options :

212807117857. 1
212807117858.2
212807117859. 3
212807117860. 4

Question Number : 131 Question Id : 21280729466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Choose the incorrect statement about Green Revolution :
(1) Land owners took back land from their tenants and started cultivating directly
(2) The first phase of Green Revolution was in the 1950s and 1960s.
(3) Green Revolution broughtin inequality among rich formers and landless and marginal holders.
(4) Green revolution was introduced in areas that had assured irrigation.
Options :
212807117861. 1
212807117862. 2

212807117863. 3
212807117864. 4

Question Number : 131 Question Id : 21280729466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

&fd sifa & o H e FYF 1 =9 w

(1)  ofi7 wiferei 3 3197 SRRl | SO SHH a1t o of 3R HiY R W Wl HE IE = A |

(2) &R wifd =T 9ge =X 1950 37 1960 T WH T |

(3) eRa wifa = ugyia stiR fRaml oiR yfitda ik diwia fRamT & i sraama & g & & fau
IERIKRIRIT

(4) 7R wifq =i e 37 &5 | g2 oft et fo=ng =1 ersst giawn o |

sor 117861, 1

212807117862. 2

212807117863. 3
212807117864. 4

Question Number : 132 Question Id : 21280729467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In land Ceiling Acts, the upper limit does not depend on :
(1) Productivity of land

(2) Surplus land

(3) kind of land

(4) Location of land

Options :



212807117865. 1
212807117866. 2
212807117867. 3
212807117868. 4

Question Number : 132 Question Id : 21280729467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i stferraa dmn Afufedl § sod @ 7 s =1 st ?
(1) 4fH = SRR

(2) fareER sfA

(3) offF = HFR

(4) 9fg =i srafefq

Options :

212807117865. 1
212807117866. 2
212807117867. 3
212807117868. 4

Question Number : 133 Question Id : 21280729468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List-I with List-1I
List-I List-1I
Social Monts Issues
(A) Chipko Movement ()  Agrarian
(B) Trade Union Movement () Poverty
(€) Naxal Movement (III) Ecological
(D) Anti-price Rise Movement (IV) Industrial Worker

Choose the correct answer from the options given below :

(1) (A, (B)-IV), (O-0), (D)-(II)

(2)  (A)-IID), (B)-(IV), (O)-(I0), (D)-(D)
(3)  (A)-(IV), (B)-(D), (O)-(11), (D)~(IIT)
(4) (M-, (B)-(IV), (O)-(TI), (D)-(IT)
Options :

212807117869. 1
212807117870. 2
212807117871. 3
212807117872. 4

Question Number : 133 Question Id : 21280729468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Tell-1 § GAI-11 1 el sifs :
eI TEAl-11
(ATHTSTeR ) (98)

(A) Tau=l stideH (I) i Hal

(B) < g STicie (I

(C) e SAigeH (IT) arffeerfent
TEE fadiedt eidier (IV)  3iEifiTeh SR

== fou v fawed 4 9 Wé 3T H1 999 FH

(1) (A)-(ID), (B)-(IV), (O)-[), (D)-(II)

(2) (A, (B)-(IV), (O-ID), (D)-(I)
(3)  (A)-(V), (B)-(D), (O-(1L), (D)-(I1)
(4)  (A)-0), (B)-(IV), (O)-(1), ( )-(1D)

Options :

212807117869. 1
212807117870.2
212807117871. 3
212807117872. 4

Question Number : 134 Question Id : 21280729469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who is the author of the book “The making and unmaking of an industrial working class” ?
(1) Jan Breman
(2) Mark Holmstrom
(3) Clark Kerr
(4) Chhaya Datar
Options :
212807117873. 1
212807117874. 2

212807117875. 3
212807117876. 4

Question Number : 134 Question Id : 21280729469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
"1 A wue sifeT sifw v Sefigae afshn gom’’ % J&s & o HiF 872
1) SHSEH

(

(2) H T 2
(3) oA HQ
(4) BHERER



Options :

212807117873. 1
212807117874.2
212807117875.3
212807117876. 4

Question Number : 135 Question Id : 21280729470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the conversation between Bhrigu and Bharadvaja in the epic Mahabharata, what does Bhrigu
Quote as the identity for difference in Caste ?

(1) Hair colour

(2) Eye colour

(3) Skin colour

(4) Height

Options :
212807117877. 1
212807117878 2

212807117879. 3
212807117880. 4

Question Number : 135 Question Id : 21280729470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TETIRA Herehed H 7] 3R RgrS! % o9 darg # o] 3 sifd § ofe § 6 | 98 g 72
(1) =Tl 1 &
(2) a3
(3) o= T

(4) 3=
Options :
212807117877. 1
212807117878.2
212807117879. 3
212807117880. 4

Question Number : 136 Question Id : 21280729471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the world’s largest MNC in retail market :
(1) Wal Mart Stores

(2) Pepsico

(3) Reliance Industries

(4) Amazon

Options :



212807117881. 1
212807117882.2
212807117883. 3
212807117884. 4

Question Number : 136 Question Id : 21280729471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Gl JreiR H fava i god 981 Jgued S0l (TH U ) §
(1) T |9 ¥Ry
(2) USR]
(3) T s
(4) SFHSH
Options :

212807117881. 1
212807117882.2
212807117883. 3
212807117884. 4

Question Number : 137 Question Id : 21280729472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

During electoral competition caste is used as a vital factor by politician to get voter with which
process can we relate thin example with ?

(1) Modernisation of Caste

(2) Secularisation of Caste

(3) Politization of Caste

(4) Communalization of Caste

Options :
212807117885 1
212807117886. 2

212807117887. 3
212807117888. 4

Question Number : 137 Question Id : 21280729472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




ATt SAEH % SRA TsH@STl g1 9 W A o for sifa wecyul e & 9 § swwe R S R
39 3T Fi &Y for ufeman @ Sire gea €72

(1) <fd =1 sngFHeim
(2) wfd &1 gH e
(3) Sifd 1 TSHIfTR
(4) Sfd H HYSETHE

Options :

212807117885. 1
212807117886. 2
212807117887. 3
212807117888. 4

Question Number : 138 Question Id : 21280729473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sanskritization was coined by :
(1) MLN. Srinivas
(2) Dipankar Gupta

(3) Y. Singh
(4) S. Deshpande
Options :

212807117889. 1
212807117890. 2
212807117891. 3
212807117892. 4

Question Number : 138 Question Id : 21280729473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Hepfaet v fRas J21?

(1) TH. . gifam™

(2) R e

(3) . foe

(4) TH. SuUiE

Options :

212807117889. 1
212807117890. 2
212807117891. 3
212807117892. 4

Question Number : 139 Question Id : 21280729474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value




IComprehension |MCQ

Match the concept with their explanation

List-I List-1I
Concept Explanation
(1) Zamindar system ()  Benami transfer
(2) Raiyatwari system (I)  Radical restructuring of agrarian structure in Kerala
and Bengal
(3) Tenancy abolition and regulation (III) Less burden of taxation mass purposses
(4) Land ceiling (IV) Agricultural production stagnated

Choose the correct answer from the options given below :

(1) (A4)-(1D, (B)-(1), (O-(1V), (D)-(I)
(2)  (A)-V), (B)(1), (C)-(), (D)-(II)
(3)  (A)-(), (B)-(ID), (O, (D)-(IV)
(4)  (A)-IV), (B)-(ID), (O)-(I1), (D)-I)
Options :

212807117893. 1
212807117894. 2
212807117895. 3
212807117896. 4

Question Number : 139 Question Id : 21280729474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tell-1 § GAI-11 1 el sifs :
T A1
( () ST ST
( () % iR srer § i < o1 g o
(C) SRR 39e iR fafrema (III) =Y 1 %HH 9R; i iy
( (IV) fY 3cET § 2809
e fau 1w faskedi H 9 W& SW 1 =494 HIfST

(1) (A)-(), (B)-(I), (O-(1V), (D)-(II)
(2)  (A)-(IV), (B)-(II), (C)-(I), (D)-(IIL)
(3)  (A)-(D), (B)-(IN), (O, (D)-(IV)
(4)  (A)-(1V), (B)-(ID), (CO)-(IT), (D)-(T)
Options :

212807117893. 1
212807117894. 2
212807117895. 3
212807117896. 4

Question Number : 140 Question Id : 21280729475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

The information disclosure in India was restricted by :
(1) Official Secrets Act 1923

(2) Official Non Disclosure Act 1923

(3) Protection of Government Documents Act 1923
(4) Official Secretive Act 1923

Options :

212807117897. 1
212807117898.2
212807117899. 3
212807117900. 4

Question Number : 140 Question Id : 21280729475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IRA H G ek vl 1 fhges gr faf=m feran 1?2
(1) SRR TarErar sifaf=m, 1923

(2) TR TR gEHfewT, 1923

(3) HEHRRI TEES HAfgtEy, 1923

(4) wE sAfufrEm, 1923

Options :

212807117897. 1
212807117898. 2
212807117899. 3
212807117900. 4

Sub-Section Number : 2
Sub-Section Id : 2128072136
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 141 Question Id : 21280729476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cuts in state expenditure on social sector.

Globalisation involves :

(1) Opening of Borders for market

(2) Decreasing social relations globally

(3) Shrinking of Borders

(4) Increasing the government control on markets

Options :

212807117901. 1
212807117902.2
212807117903. 3
212807117904. 4

Question Number : 141 Question Id : 21280729476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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212807117902. 2
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Comprehension Compl

Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic

measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cuts in state expenditure on social sector.

Structural Adjustments lead to :

(1) State expenditure rise in Health Sector

(2) State expenditure cut in Health Sector

(3) No change in state expenditure in Health Sector
(4) State expenditure rise in Education Sector

Options :
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Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cuts in state expenditure on social sector.

Economic reforms include :

(1) Regulation of trade only

(2) Regulation of finance only

(3) Regulation of trade and finance

(4) No regulation either for finance or trade

Options :
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Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic

measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cufs in state expenditure on social sector.

Which of the following does not happen under Structural Adjustment ?
(1) Introduction of certain policies

(2) Economic reforms

(3) Taking loans from IMF

(4) Increasing state expenditure in social sector

Options :
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Read the passage and answer the following question :

Globalisation involves a stretching of social and economic relationships throughout the world.
This becomes possible through the introduction of certain policies. This process is broadly known
as liberalisation in India. Liberalisation technically involves steady removal of rules that regulated
trade and finance regulations. Once these are done, it constitutes economic reforms. Besides this
liberalisation as a process also involves taking loans from international institutions such as
International Monetary Fund (IMF). It is important to mention that certain condition are imposed
before loans are sanctioned to a country, which thereby leads to introduction of new economic
measures. These conditions constitute the Structural Adjustments. These adjustments usually
mean cufs in state expenditure on social sector.

Liberalisation was introduced in India in :

(1) 1960
(2) 1970
(3) 1980
(4) 1990

Options :
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(1) 1960
(2) 1970
(3) 1980
(4) 1990
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

How does sociology study society ?
(1) It only studies the social or cultural consequences of Globalization
(2) It only focuses of National issues

(3) It uses the sociological imagination to bring into focus the connections between individuals
and society at were and actual level

(4) The main aspect of sociology to study the technological interface between individuals and
society

Options :

212807117921. 1
212807117922.2
212807117923. 3
212807117924. 4

Question Number : 146 Question Id : 21280729481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

3 TENYT k! Ufed iR et fed 7 uvs @1 S e

ISR 173 1 ST 98 Ta6gd © | 98 GHMEN SR UTesh, $Tearashi 3i B, Q1 fisil =1 aitsHl &
o= w1 rafwaetl % favermm W HfEd & e T S UER, SRSR A Sifa d@ed ereen SHenta
SHHE % SRRl TR SRR FAfqd stean T JURRG % g9rE S U g8 R higd 2 gl € |
YA HERR S 9T 7Y ol g4 fafafi; gensil w saaeife Hifean o yure; =1 <9 i fasn gore d
faeft forvafaamerdl & vaw St grafsres ufknstl i Sife 2 gkl & 3/: qumsemre fava it aftum 9
el & Formen =g e i ® (3ufq uREr =1 2 afee = ) afess a8 fohet gafia fivee =1 s1eaem
Y A1 8, 39 WA )

IS HTS 1 A FY HI 7 2

(1) 9% %ad a0l & A o1 Hihfaes gRomEi & 19799 & 6 |

(2) ¥ o T Gl W& &IH a2 |

(3) 3HH QTS Hoal ¥ oot T a1 Sfvaes T W safaadl & i % g %1 99w S
(4) HHISIE o1 G Uge] ATl 9 WA & a9 dehrich] Lkl o1 AT HLAT |

Options :

212807117921. 1
212807117922. 2
212807117923. 3
212807117924. 4




Question Number : 147 Question Id : 21280729482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

Sociological study of globalisation will involve the :
(1) study of changes in personal life as new jobs energy
(2) study of the relationship between public policies and individual/group life
(3) study of relationship between countries
(4) study of technological change
Options :
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

A study of village does not only mean the study of different social group but, it also includes

(1) the study of neighbouring villages
(2) the consequences of the work done by people

(3) study of the society in its entirety along with studying its link with outside world
(4) Knowing the different stories and fables of the plane

Options :
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

The effect globalisation in India can be identified as :

(1) Opening up of new opportunities and loss of livelihood
(2) Import of raw materials

(3) Rise of NGOs

(4) Change in Technology

Options :
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Read the passage and answer the following question :

The scope of sociological study is extremely wide. It can focus its analysis of interactions
between individuals such as that of a shopkeeper with a customer, between teachers and students,
between two friends or family members. It can likewise focus on national issues such as
unemployment or caste conflict or the effect of state policies on forest rights of the tribal population
or rural indebtedness. Or examine global social processes such as : the impact of new flexible labour
regulations on the working class; or that of the electronic media on the young; or the entry of
foreign universities on the education system of the country. What defines the discipline of sociology is
therefore not just what it studies (i.e. family or trade unions or villages) but how it studies a chosen field.

Which among these is not impacted by globalisation ?
(1) Impact of global market on farmers

(2) Employment chances of middle class

(3) Changes in leisure time of young people

(4) Hierarchical organisation of caste group

Options :
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Which of the following are propositions ?
(A) The sum of four angles of quadrilateral is 180°,
(B) A line segment has two end points.

(C) 7x+3=14

(D) 3x9=21

(1) (A) and (B) Only

(
(

)

2) (C) and (D) Only

3) (C) Only

(4) (A), (B) and (D) Only
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(1) e (A) 3R (B)

(2) e (C) ¥R (D)
(3) aa (C)

(4) Ed (A), (B) 3R (D)
Options :
212807117941. 1
212807117942. 2

212807117943. 3
212807117944. 4



Question Number : 152 Question Id : 21280729487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The symbols that we use to represent number names are called numerals. Children see numerals
such as “6” in their everyday lives constantly. However, numerals are than quantities.
(1) Lesser

(2) Greater
(3) More abstract
(4) Less abstract

Options :

212807117945. 1
212807117946. 2
212807117947. 3
212807117948. 4

Question Number : 152 Question Id : 21280729487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

o fa=el &1 7am &9 H@ & ™ i 9eiia e & fon od €, 5% of% wed €1 9= arnsti i gern |
3 Ed T

(1) HHWR
(2) sIfushaH
(3) sAftrr AU
(4) A HEE
Options :

212807117945. 1
212807117946. 2
212807117947. 3
212807117948. 4

Question Number : 153 Question Id : 21280729488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

One of the winners of the Fields Medal 2022, awarded for contributions to mathematics, is
(1) Gauss M. Cordeiro
(2) Fawang Lin
(3) Maryna Viazovska
(4) Barry Simon
Options :
212807117949. 1
212807117950. 2

212807117951. 3
212807117952. 4



Question Number : 153 Question Id : 21280729488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

fiheg Ued 2022 & fasarii 1 9 us, &1 TIforg | IrreE & fau gunfaa e T '
(1) THE.UH, &S
(2) i e
(3) HRAT STATSIE
(4) o HEEA
Options :
212807117949. 1
212807117950. 2

212807117951. 3
212807117952. 4

Question Number : 154 Question Id : 21280729489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A child folds a sheet and cuts out a heart shape from it. If the child is able to recognise that the two
halves of the cut out are equal, she has understood the concept of :
(1) Equality
(2) Symmetry
(3) Paper folding
(4) Shapes
Options :
212807117953. 1
212807117954. 2

212807117955. 3
212807117956. 4

Question Number : 154 Question Id : 21280729489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ek §=11 Uk Yiie o1 Higdl & oI 35 foa1 &1 U 37&hR el § afc 9= 9% vear | Wad € fF #e &
B U e, 9 SEA I STEAURN h qOg o= 71

(1) SEFe
(2) GHET
(3) TS HIST
(4) eTgfaar

b

Options :
212807117953. 1
212807117954.2



212807117955. 3
212807117956. 4

Question Number : 155 Question Id : 21280729490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Pursuance of mathematics can teach children to :
(A) Apply formulas to limited problems

(B) Pursue assumptions to a logical conclusion

(C) Ability to handle high degree of abstraction
(D) Defy logic to solve a problem through hunches
(E) Approach problems in a systematic manner
Choose the correct answer from the options given below :
(1) (©), (B) and (E) only

(2) (A), (C) and (E) only

(3) (A), (D) and (E) only

(4)  (A) (B) and (C) only

Options :

212807117957. 1

212807117958. 2

212807117959. 3
212807117960. 4

Question Number : 155 Question Id : 21280729490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
wfoTd § STTEROT a5l ] HiEl Hohdl ©

(A) Hifda geenst & fau §3 ar]

(B) difcher feert deh STAYMRUNT 1 Ured Al

(C) STHEHI o I T Tl WIS ohi &Hdl

(D) TTE o H1eAq 9 fohdt TR ol 5 3 o f 7o sl STaeerl e
(E) goensi =1 syafeed g1 & <@

== fou o famedi § 9 W& I F T Fif:

(1) & (O), (B) ¥R (E)

(2) FE@ (A), (O) R
(3) <A@ (A), (D) 3 (E)
(4) e (A), (B) ¥R (O)

Options :

212807117957. 1
212807117958.2
212807117959. 3

—



212807117960. 4

Question Number : 156 Question Id : 21280729491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In mathematics, if a child struggles with decimals, she will probably struggle with percentages and
subsequently algebra. This nature of mathematics is a major cause of the stress and fear
among children.
(1) Formative
(2) Normative
(3) Cumulative
(4) Determinative
Options :
212807117961. 1
212807117962. 2

212807117963. 3
212807117964. 4

Question Number : 156 Question Id : 21280729491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Tforg § Ffe 2 9= SvHed & 91y ud 3l 2, 91 98 e 9ave 2R 9 § SiSrfor & W TEY ST |
718 TIfOr i Uhfd sl § T SR 99 6 TH THE HR F
(1) TEATH®R
(2) HHHA
(3) HaHl
(4) TAufo
Options :

212807117961. 1
212807117962. 2
212807117963. 3
212807117964. 4

Question Number : 157 Question Id : 21280729492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Children naturally ask various questions about their surroundings. This shows that they are :
(1) Snoopy

(2) Meddling

(3) Curious

(4) Concerned

Options :
212807117965. 1



212807117966. 2
212807117967. 3
212807117968. 4

Question Number : 157 Question Id : 21280729492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T wnfes T H o Tem F O A fafm s ed f 1o qar s g fr 9 €

(1) foarg
(2) TE@A A A

(3) SH*
(4) feifaa
Options :

212807117965. 1
212807117966. 2
212807117967. 3
212807117968. 4

Question Number : 158 Question Id : 21280729493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

CV Raman was awarded the Nobel Prize for Physics in 1930 for his pioneering work on
(1) Sound waves
(2) Radio waves
(3) Scattering of light
(4) Scattering of sound
Options :
212807117969. 1
212807117970. 2

212807117971. 3
212807117972. 4

Question Number : 158 Question Id : 21280729493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
o, T & 1930 H sifaest 1 Aieid 9ES 39 T s o ferg fomn wn an)
(1) &
(2) 3fed a3
(3) U % YehiviH
(4) =& o gHRIvH
Options :

212807117969. 1
212807117970. 2



212807117971. 3
212807117972. 4

Question Number : 159 Question Id : 21280729494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A teacher was teaching about air pressure when a child exclaimed- “Yesterday the tyre of my cycle
burst, and I saw that the air coming out of the tyre was colder than the surrounding air!. This
shows that the child is

(1) Naughty

(2) Observant

(3) Distracted

(4) Talkative

Options :

212807117973. 1
212807117974. 2
212807117975. 3
212807117976. 4

Question Number : 159 Question Id : 21280729494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ek LA 919 <@ & T § 9@l @1 o 76 Ush o= H el foh el AL HIEfhat o 2= e 797 of i
S o a1 eeR § A 31 W off St Sl g § et off | 8 femman & fh A= B

(1) SRR
(2) ©FF & S
(3) Tferaferd
(4) ST
Options :

212807117973. 1
212807117974.2
212807117975. 3
212807117976. 4

Question Number : 160 Question Id : 21280729495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following would be a useful teaching strategy for teaching about coronavirus in a
science classroom ?

(A) A drawing competition on the theme Covid-19

(B) Invited lecture by a scientist

(C) Observing images of Coronavirus published in newspapers
(D) Observing electron micrographs of Coronavirus

Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A) and (B) only
(3) (B) and (D) only
(4) (A) and (C) only

Options :

212807117977. 1
212807117978. 2
212807117979. 3
212807117980. 4

Question Number : 160 Question Id : 21280729495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T e § SR o o &) H Y o foe fefafed 5 & @ ot swErt it 2o ?
(A) HIfTS-19 &l o W TH Fell UTATTT 1 AESH

(B) e Ak g1 AW A

(C) HHMER U3 H Yehiferd SR IEed < T==ll a1 sAaelisn

(D) hITHTETRE o SAFLIA HIShIUTE ol e

== feu U fasredl H§ 9 9& I F =941 HifI;

(1) e (B) 3R (C)

(2) RO (A) 3R (B)
(3) I (B) 3R (D)
(4) FIA (A) R (C)
Options :

212807117977. 1

212807117978. 2

212807117979. 3
212807117980. 4

Question Number : 161 Question Id : 21280729496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




When someone punches a wall, there is no visible effect upon it. This example can be used to
teach ?

(1) Law of conservation of energy can be violated in specific cases
(2) Law of conservation of energy can never be violated.
(3) Sometimes energy is invisible and needs to be visualised.
(4) Sometimes there is no effect of force on energy.
Options :
212807117981. 1
212807117982. 2

212807117983. 3
212807117984. 4

Question Number : 161 Question Id : 21280729496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

S g faR T gaeR] AR § @ 39 T hIE Yodel THE Tl foadl | 98 Seekul HiEm H ITArT g ekl &
(1) il & e o1 Fram o1 fafore wmet # Seotem foman s weha €1

(2) Sl o Gl&m 1 a1 SeeieH A fEn S gt ©

(3) F 99T & fou Fert fewr 72 <t 2 oiR 38 T 1 S At 7

(4) <t TG H Hel W HE Y9G AL A 2|

Options :

212807117981. 1
212807117982.2
212807117983. 3
212807117984. 4

Question Number : 162 Question Id : 21280729497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A good science teacher sees children as :
(1) Overcome by distractions
(2) Receivers of knowledge
(3) Agents to be controlled
(4) Source of knowledge
Options :
212807117985. 1
212807117986. 2

212807117987. 3
212807117988. 4

Question Number : 162 Question Id : 21280729497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




oM =1 U= 31=91 eI TS0 Rl 9@l § ;

(1) Toerduli § 3=
(2) M o YrEhdl
(3) TSl & e w5
(4) S = E
Options :

212807117985. 1
212807117986. 2
212807117987. 3
212807117988. 4

Question Number : 163 Question Id : 21280729498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not true about teaching poetry to young learners ?
(1) It requires a different method of teaching

(2) It should be used for teaching grammar only

(3) It should be experienced holistically

(4) It should be read aloud with rhythm

Options :

212807117989. 1
212807117990. 2
212807117991. 3
212807117992. 4

Question Number : 163 Question Id : 21280729498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

freafefad & 4, Zan faenfefdl it wfaq ver % fau w4 @ #9078 €2
(1) =9 fou foveror =6t e o1 fafy =t sTavasa 2t ¥

(2) THH ITAN haal A UM o fore foman S =nfen |

(3) TH W AU (YU) &Y § SR o= s =ik

(4) 3 T WY I A H g AE |

Options :

212807117989. 1
212807117990. 2
212807117991. 3
212807117992. 4

Question Number : 164 Question Id : 21280729499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value




IComprehension |MCQ I

input constitute the site for acquisition of all the different skills of language for school
children.

(1) Text book centric and limited
(2) Rich and Comprehensible
(3) Classic and teacher centric
(4) Linear and instructional

Options :

212807117993. 1
212807117994.2
212807117995. 3
212807117996. 4

Question Number : 164 Question Id : 21280729499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
7Y Thell d=di o fera sy o |l fafie sl o stfimgor & foe aftee =1 faio s 2

(1) TEF T=% igd 3R Hifad
(2) Yo SR HYg

(3) TUIWFTG 3 FeAIF Hid
(4) ‘tfas AR e

Options :

212807117993. 1
212807117994. 2
212807117995. 3
212807117996. 4

Question Number : 165 Question Id : 21280729500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the role of a teacher in a constructivist classroom ?

(A) To provide a safe space for children to express themselves.
(B) To build an environment of participatory learning.

(C) To listen to students with judgement.

(D) To enhance inequalities among students.

(E) To create an inclusive environment.

Choose the correct answer from the options given below :

(1) (A), (B), (C) and (E) only

(2) (A), (B) and (E) only
(3) (A) (B) and (D) only
(4) (B, (C) and (D) only
Options :

212807117997. 1
212807117998. 2



212807117999. 3
212807118000. 4

Question Number : 165 Question Id : 21280729500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TEAEE! e H Uk SASGSH i 1 HH B 2

(A) To=nfelEr =t stfisafea 39 GifEd ®IH YSH +T
(B) wHeurt sferrs 2q Sferd andreror =t fafo s
(C) BTl I FHia o w12 g

(D) foenfof=i # srammar =1 e < |

(E) Uk YHIckicqesh ardERyl o1 FHH0 63|

= fqu Tu faskedi § | TWE IAT 1 FIT HITC :
(1) %ad (A), (B), (C) ¥R (E)

(2) %9 (A), (B) 3R (E)

(3) e (A), (B) ¥R (D)
(4) %9 (B), (C) ¥R (D)

Options :

212807117997. 1
212807117998.2
212807117999. 3
212807118000. 4

e

o g

Question Number : 166 Question Id : 21280729501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Construction of knowledge is what the child knows and understands.

(1) Separated from

(2) Disassociated from
(3) Based on

(4) By challenging

Options :

212807118001. 1
212807118002. 2
212807118003. 3
212807118004. 4

Question Number : 166 Question Id : 21280729501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




FH H G a1 § foh o= 9 ST ofR g9 €

(1) AT

(2) g

(3) Tsi

(4) A
Options :

212807118001. 1
212807118002. 2
212807118003. 3
212807118004. 4

Question Number : 167 Question Id : 21280729502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A safe, secure and happy school environment can make children :
(1) Careless and irresponsible
(2) Casual and complacent
(3) Learn better and achieve more
(4) Learn less and not think of achievement
Options :
212807118005. 1
212807118006 2

212807118007. 3
212807118008. 4

Question Number : 167 Question Id : 21280729502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T HiEd, 9Hud AR GIH fa=nes qaiat a=i A1 Hehdll B

(1) arREmR & ) fSEER

(2) eFHEiE IR Hie

(3) oT=a 3R S HrE

(4) HH Hig AR Suafe & & gre

Options :

212807118005. 1
212807118006. 2
212807118007. 3
212807118008. 4

Question Number : 168 Question Id : 21280729503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The strategy which is not conducive for language learning ?
(1) creating class libraries to promote reading

(2) connecting language learning to the children’s daily life.
(3) using textbook as a only source of knowledge.

(4) using media inputs such as magazines, newspaper in the classroom.

Options :

212807118009. 1
212807118010. 2
212807118011. 3
212807118012. 4

Question Number : 168 Question Id : 21280729503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl ATRTH o foTU SThet TR ke T 2

(1) TS ! gl <1 & foiu wan geirer 1 a0 e

(2) == % <fFe Sirea @ amn s1fere & e |

(3) TTSd T i FH 1 TF °E Hid 996 |

(4) ufse TR STEER I G9R |iEHT & €9 5w H ST FHE |

Options :

212807118009. 1
212807118010. 2
212807118011.3
212807118012. 4

Question Number : 169 Question Id : 21280729504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In his short story ‘Bade Bhai Sahab’, Prem Chand has offered a critique of colonial education.
Which one of the following reflects his critical views ?

(1) Colonial education was inspired by French ideals

(2) Colonial education had no space for Tabla

(3) Colonial education was not accessible to his sister

(4) Colonial education involved mindless mugging up

Options :

212807118013. 1
212807118014.2
212807118015. 3
212807118016. 4

Question Number : 169 Question Id : 21280729504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




YR A AT ek (ae WE Wed’ | sifafie fen # steem =1 ) frafafed 7 9 0 @ s
HATATATHS =Rl i goidar 2 |

(1) sirafafeer foan widE fo=mi § gafaa of

(2) simfafers e H Toe & fau g = =2

(3) sirafarrr foran suet sieq & foaw suersy @ off

(4) sirafafee foan # foar-y= Tewe miba of

Options :

212807118013. 1
212807118014.2
212807118015. 3
212807118016. 4

Question Number : 170 Question Id : 21280729505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

What is the theme of “The Palace of Illusions’, a popular novel by Chitra Banerjee Divakaruni ?
(1) Reimagination of Mahabharat from the point of view of women
(2) Reimagination of Ramayana from a woman’s perspective
(3) Tracing the stories of powerful dynasties from Indian history
(4) Analysis of the technique of architecture and sculpture from the ancient world
Options :
212807118017. 1
212807118018. 2

212807118019. 3
212807118020. 4

Question Number : 170 Question Id : 21280729505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e =il fesarekvll o Ufis U1 ' Uedd 3 sogs’ o faw & § 7
(1) afeen =feenior & AEYRA I THehed T

(2) wfgan efteshivT ¥ THETT &l GAsheuH

(3) I faere | wfaaenett a9l =l el i s

(4) 9=H fave 9 gfid SR quafees qesiet &1 favero

Options :

212807118017. 1
212807118018.2
212807118019. 3
212807118020. 4

Question Number : 171 Question Id : 21280729506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




IComprehension |MCQ |
Identify the statement which is false about Savitribai Phule.
(1) Savitribai qualified as a teacher in 1847, thus earning her credit as India’s first female teacher.

(2) She supported the education of women in household management to help them become
good wives and mothers.

(3) Her efforts were opposed by the conservative elements of society.
(4) She established a centre for widows in order to care for vulnerable women.

Options :

212807118021. 1
212807118022. 2
212807118023. 3
212807118024. 4

Question Number : 171 Question Id : 21280729506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118021. 1
212807118022. 2
212807118023. 3
212807118024. 4

Question Number : 172 Question Id : 21280729507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the idea that was NOT expressed in the popular animated film, ‘Inside Out’.
(1) Embrace sadness
(2) You can control others” emotions
(3) Active listening is important
(4) Give ourselves permission to not be “okay”
Options :
212807118025 1
212807118026. 2

212807118027. 3
212807118028. 4

Question Number : 172 Question Id : 21280729507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
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osoT1 15025, 1
212807118026. 2

212807118027. 3
212807118028. 4

Question Number : 173 Question Id : 21280729508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Why has Charles Dickens called Industrial workers as “hands” ?
(1) Workers worked day and night

(2) Their identity was limited to being operators of machines
(3) More number of workers meant increase in production
(4) Only workers could operate heavy machinery

Options :

212807118029. 1
212807118030.2
212807118031. 3
212807118032. 4

Question Number : 173 Question Id : 21280729508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807118029. 1
212807118030. 2
212807118031. 3
212807118032. 4

Question Number : 174 Question Id : 21280729509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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Which film can be used to understand the complex realities of caste based discrimination in India ?
(1) Article 15

(2) Mimi

(3) Nayak

(4) Pink
Options :

212807118033. 1
212807118034.2
212807118035. 3
212807118036. 4

Question Number : 174 Question Id : 21280729509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118033. 1
212807118034.2
212807118035. 3
212807118036. 4

Question Number : 175 Question Id : 21280729510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
‘Maus’ by Art Spiegelman is the first to win a pulitzer prize.

(1) Novella

(2) Children’s book
(3) Graphic novel
(4) Autobiography

Options :

212807118037. 1
212807118038. 2
212807118039. 3
212807118040. 4

Question Number : 175 Question Id : 21280729510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807118037. 1
212807118038. 2
212807118039. 3
212807118040. 4

Question Number : 176 Question Id : 21280729511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is the sequal to the dystopic fiction ‘The Handmaid’s Tale” by Margaret
Atwood ?

(1) Girl, woman, other
(2) The Testaments

(3) The Luminaries

(4) The Line of Beauty

Options :

212807118041. 1
212807118042. 2
212807118043. 3
212807118044. 4

Question Number : 176 Question Id : 21280729511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807118041. 1
212807118042. 2
212807118043. 3
212807118044. 4

Question Number : 177 Question Id : 21280729512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
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In Prem Chand’s ‘Idgah’, what does Hamid get from the fair for his grandmother ?
(1) A box of candy

(2) A pair of tongs

(3) A clay doll

(4) A pair of footwear

Options :

212807118045. 1
212807118046. 2
212807118047. 3
212807118048. 4

Question Number : 177 Question Id : 21280729512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118045. 1
212807118046. 2
212807118047. 3
212807118048. 4

Question Number : 178 Question Id : 21280729513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which European university has awarded a doctorate to the popular Indian artist, Shah Rukh
Khan ?

(1) University of Law, London
(2) University of Lancaster
(3) University College London
(4) University of Warwick

Options :

212807118049. 1
212807118050. 2
212807118051. 3
212807118052. 4

Question Number : 178 Question Id : 21280729513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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Options :

212807118049. 1
212807118050. 2
212807118051. 3
212807118052. 4

Question Number : 179 Question Id : 21280729514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following must be taught in a social science classroom ?
(A) Relevant local content

(B) Necessity of conflict

(C) Normative concerns

(D) Preservation of boundaries

(E) Interrelationship among discipline

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (C) and (E) only
(3) (A), (), (E) only

(4)  (B), (D), (E) only

Options :

212807118053. 1

212807118054. 2

212807118055. 3
212807118056. 4

— —

Question Number : 179 Question Id : 21280729514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807118053. 1

212807118054. 2

212807118055. 3
212807118056. 4

Question Number : 180 Question Id : 21280729515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Why have social sciences been called a ‘Science” ?

(1) They lend themselves to scientific enquiry

(2) They seek parity with the natural sciences

(3) They aspire to be respected as much as science

(4) Their research methods are exactly the same as that of natural sciences

Options :

212807118057. 1
212807118058. 2
212807118059. 3
212807118060. 4

Question Number : 180 Question Id : 21280729515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

gt fagm 1 faam i w1 s e 2

(1) 3 @ %! 6 = & fa 3UR [ B |

(2) o Yiepfae faam | e HegH F4d 2

(3) o =re & 3o & geH e famm w6t 7

(4) T STIEYH F qlF faoga wefas faam & g 2

Options :
212807118057. 1



212807118058. 2
212807118059. 3
212807118060. 4

Question Number : 181 Question Id : 21280729516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What does the discipline of political science and its teaching involve ?
(1) Obedience and loyalty of the citizens

(2) Adhering to the universal value of progress

(3) Studying structures of domination and their contestations

(4) Increasing ‘disloyalty” against the state

Options :

212807118061. 1
212807118062. 2
212807118063. 3
212807118064. 4

Question Number : 181 Question Id : 21280729516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807118061. 1

212807118062. 2

212807118063. 3
212807118064. 4

Question Number : 182 Question Id : 21280729517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

While teaching about different types of resources, the social science teacher should promote the
idea of of resources.

(1) Conservation
(2) Exploitation
(3) Classification
(4) Features

Options :
212807118065. 1
212807118066. 2



212807118067 3
212807118068. 4

Question Number : 182 Question Id : 21280729517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(2) <A
(3) EffeRTul
(4) fedrwand

Options :

212807118065. 1
212807118066. 2
212807118067. 3
212807118068. 4

Question Number : 183 Question Id : 21280729518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

While teaching ‘Equality” in the classroom, which of the following case studies would be the least
relevant ?
(1) Om Prakash Valmiki’s Joothan
(2) Rosa Parks” Activism
(3) Gender based segregation in school
(4) Hydraulic structure in ancient India
Options :
212807118069. 1
212807118070. 2

212807118071. 3
212807118072. 4

Question Number : 183 Question Id : 21280729518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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212807118069. 1
212807118070. 2
212807118071. 3
212807118072. 4

Question Number : 184 Question Id : 21280729519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“Those who have enjoyed pleasures and renounced them, move about like the mind , and go
wherever they please, unchecked like birds in their flight.....”. Which Jaina teaching is embodied
in this extract ?

(1) Animism
(2) Indulgence
(3) Materialism

(4) Asceticism

Options :

212807118073. 1
212807118074. 2
212807118075. 3
212807118076. 4

Question Number : 184 Question Id : 21280729519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118073. 1
212807118074.2
212807118075. 3
212807118076. 4

Question Number : 185 Question Id : 21280729520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Craft should be taught both as a and activity.
(1) vocational, creative

(2) trivial, experiential

(3) professional, alientating
(4) separate, repetitive
Options :

212807118077. 1

212807118078. 2

212807118079. 3
212807118080. 4

Question Number : 185 Question Id : 21280729520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807118077. 1
212807118078.2
212807118079. 3
212807118080. 4

Question Number : 186 Question Id : 21280729521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If arts are not given a respectable place as a school subject, students do not become aware of the :
(A) Rich and varied artistic traditions in the country

(B) Vibrant and ever evolving nature of the creative arts
(C) Disney cartoon characters such as mickey mouse
(D) Visuals of Bollywood songs and their videos

(E) Entertaining and relaxing nature of the creative arts
Choose the correct answer from the options given below :
(1) (C) and (D) only

(2) (A) and (E) only

(3) (A) and (B) only

(4) (B) and (C) only
Options :

212807118081. 1
212807118082. 2
212807118083. 3



212807118084. 4

Question Number : 186 Question Id : 21280729521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118081. 1

212807118082. 2

212807118083. 3
212807118084. 4

Question Number : 187 Question Id : 21280729522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arts and all other teachers must remember that arts teaching should stimulate the as

well as the

(1) Learners ; art
(2) Teacher ; art
(3) Artist ; object
(4) Body ; mind
Options :
212807118085 1
212807118086. 2

212807118087. 3
212807118088. 4

Question Number : 187 Question Id : 21280729522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807118085. 1

212807118086. 2

212807118087. 3
212807118088. 4

Question Number : 188 Question Id : 21280729523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is the genre of the famous Hindi film ‘Chak De India” ?
(1) Life story
(2) Life narrative
(3) Drama
(4) Biography
Options :
212807118089 1
212807118090. 2

212807118091. 3
212807118092. 4

Question Number : 188 Question Id : 21280729523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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Options :

212807118089. 1
212807118090. 2
212807118091. 3
212807118092. 4

Question Number : 189 Question Id : 21280729524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

There is a traditional art of folding paper into attractive shapes to make decorative objects which
can be used by the teachers to teach several things. What is it called ?
(1) Paper model
(2) Paper mache
(3) Origami
(4) Morigami
Options :
212807118093. 1
212807118094. 2

212807118095. 3
212807118096. 4

Question Number : 189 Question Id : 21280729524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
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Options :

212807118093. 1
212807118094. 2
212807118095. 3
212807118096. 4

Question Number : 190 Question Id : 21280729525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

One of the essential purposes of artistic creativity is to establish sympathetic links between :
(A) Human beings

(B) Art

(C) Nature

(D) Friendship

(E) Skill

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (B) and (E) only

(3) (E)and (A) only

(4) (A) and (D) only



Options :

212807118097. 1
212807118098. 2
212807118099. 3
212807118100. 4

Question Number : 190 Question Id : 21280729525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807118097. 1
212807118098. 2
212807118099. 3
212807118100. 4
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Question Number : 191 Question Id : 21280729526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




Read the following passage and answer the following question :

In order to carry out my plans I generally had to make use of teachers already experienced in
the old methods of the ordinary schools. That convinced me of the radical difference between the
two systems. Even an intelligent teacher who had grasped the principle found great difficulty in
putting it into practice. She could not understand her apparently passive role, one like that of the
astronomer, who sits motionless before the telescope, whilst words are wheeling through the
universe. This idea that life and all pertaining to it go on by themselves, and that in order to study
life to enquire into its secrets and to direct it, one must observe it and get to know it without
interfering with it, is really very difficult to assimilate and put into practice. The teacher has
accustomed herself too completely to being the only freely active person in the school, which results
in the extinction of the activity of the children. When she fails to obtain order and silence she looks
at people in dismay protesting that she cannot help it; in vain does one repeat to her that disorder
at the start is unavoidable. In a novel called My Millionaire Uncle, there is a very eloquent example
of the old methods of discipline. The uncle is evidently a very difficult child, and after he had done
enough mischief to upset a city he is, as a despairing resort, shut up in a school. Here the uncle,
Fufu by name performs his first kindly act and experiences his first stirring of emotion when, on
finding himself near pretty little Fufetta, he notices that she is hungry and has no lunch.

In the novel ‘My Millionaire Uncle’, the uncle is shut up in a school because :
(1) Heis a despairing resort

(2) He acts like a despairing resort

(3) He performs his first kindly act

(4) Heis extremely mischievous
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Read the following passage and answer the following question :

In order to carry out my plans I generally had to make use of teachers already experienced in
the old methods of the ordinary schools. That convinced me of the radical difference between the
two systems. Even an intelligent teacher who had grasped the principle found great difficulty in
putting it into practice. She could not understand her apparently passive role, one like that of the
astronomer, who sits motionless before the telescope, whilst words are wheeling through the
universe. This idea that life and all pertaining to it go on by themselves, and that in order to study
life to enquire into its secrets and to direct it, one must observe it and get to know it without
interfering with it, is really very difficult to assimilate and put into practice. The teacher has
accustomed herself too completely to being the only freely active person in the school, which results
in the extinction of the activity of the children. When she fails to obtain order and silence she looks
at people in dismay protesting that she cannot help it; in vain does one repeat to her that disorder
at the start is unavoidable. In a novel called My Millionaire Uncle, there is a very eloquent example
of the old methods of discipline. The uncle is evidently a very difficult child, and after he had done
enough mischief to upset a city he is, as a despairing resort, shut up in a school. Here the uncle,
Fufu by name performs his first kindly act and experiences his first stirring of emotion when, on
finding himself near pretty little Fufetta, he notices that she is hungry and has no lunch.

According to the excerpt, what is essential in order to study life and enquire into its secrets ?
(1) Practice of using microscope and telescope

(2) Ability to observe without interfering

(3) Assimilation of knowledge from books

(4) Practice of being a radical astronomer
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Read the following passage and answer the following question :

In order to carry out my plans I generally had to make use of teachers already experienced in
the old methods of the ordinary schools. That convinced me of the radical difference between the
two systems. Even an intelligent teacher who had grasped the principle found great difficulty in
putting it into practice. She could not understand her apparently passive role, one like that of the
astronomer, who sits motionless before the telescope, whilst words are wheeling through the
universe. This idea that life and all pertaining to it go on by themselves, and that in order to study
life to enquire into its secrets and to direct it, one must observe it and get to know it without
interfering with it, is really very difficult to assimilate and put into practice. The teacher has
accustomed herself too completely to being the only freely active person in the school, which results
in the extinction of the activity of the children. When she fails to obtain order and silence she looks
at people in dismay protesting that she cannot help it; in vain does one repeat to her that disorder
at the start is unavoidable. In a novel called My Millionaire Uncle, there is a very eloquent example
of the old methods of discipline. The uncle is evidently a very difficult child, and after he had done
enough mischief to upset a city he is, as a despairing resort, shut up in a school. Here the uncle,
Fufu by name performs his first kindly act and experiences his first stirring of emotion when, on
finding himself near pretty little Fufetta, he notices that she is hungry and has no lunch.

What leads to the extinction of the activity of children in school ?
(1) Teacher being the sole active person

(2) Teacher being the motionless person

(3) Teacher being the observing person

(4) Teacher being the sole passive person

Options :
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Read the following passage and answer the following question :

In order to carry out my plans I generally had to make use of teachers already experienced in
the old methods of the ordinary schools. That convinced me of the radical difference between the
two systems. Even an intelligent teacher who had grasped the principle found great difficulty in
putting it into practice. She could not understand her apparently passive role, one like that of the
astronomer, who sits motionless before the telescope, whilst words are wheeling through the
universe. This idea that life and all pertaining to it go on by themselves, and that in order to study
life to enquire into its secrets and to direct it, one must observe it and get to know it without
interfering with it, is really very difficult to assimilate and put into practice. The teacher has
accustomed herself too completely to being the only freely active person in the school, which results
in the extinction of the activity of the children. When she fails to obtain order and silence she looks
at people in dismay protesting that she cannot help it; in vain does one repeat to her that disorder
at the start is unavoidable. In a novel called My Millionaire Uncle, there is a very eloquent example
of the old methods of discipline. The uncle is evidently a very difficult child, and after he had done
enough mischief to upset a city he is, as a despairing resort, shut up in a school. Here the uncle,
Fufu by name performs his first kindly act and experiences his first stirring of emotion when, on
finding himself near pretty little Fufetta, he notices that she is hungry and has no lunch.

According to the passage the teacher get agitated by disorder because :
(1) sheis accustomed to being in control

(2) she is accustomed to being in chaos

(3) she is accustomed to new methods of discipline

(4) she is accustomed to being powerless

Options :
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Read the following passage and answer the following question :

In order to carry out my plans I generally had to make use of teachers already experienced in
the old methods of the ordinary schools. That convinced me of the radical difference between the
two systems. Even an intelligent teacher who had grasped the principle found great difficulty in
putting it into practice. She could not understand her apparently passive role, one like that of the
astronomer, who sits motionless before the telescope, whilst words are wheeling through the
universe. This idea that life and all pertaining to it go on by themselves, and that in order to study
life to enquire into its secrets and to direct it, one must observe it and get to know it without
interfering with it, is really very difficult to assimilate and put into practice. The teacher has
accustomed herself too completely to being the only freely active person in the school, which results
in the extinction of the activity of the children. When she fails to obtain order and silence she looks
at people in dismay protesting that she cannot help it; in vain does one repeat to her that disorder
at the start is unavoidable. In a novel called My Millionaire Uncle, there is a very eloquent example
of the old methods of discipline. The uncle is evidently a very difficult child, and after he had done
enough mischief to upset a city he is, as a despairing resort, shut up in a school. Here the uncle,
Fufu by name performs his first kindly act and experiences his first stirring of emotion when, on
finding himself near pretty little Fufetta, he notices that she is hungry and has no lunch.

According to the passage, teachers fail to understand that they also have a :
(1) Active role

(2) Passiverole

(3) Authoritarian role

(4) Despairing role

Options :
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Read the given passage and answer the following question :

Stories show us a number of things about the ways in which children learn. They see the
world as a whole, mysterious perhaps, but a whole none the less. They do not divide it up into
airtight little categories, as we adults tend to do. It is natural for them to jump from one thing to
another, and to make the kinds of connections that are rarely made in formal classes and textbooks.
They make their own paths into the unknown, paths that we would never think of making for
them. Thus, for example, if we decided that it was important for children to know about the
Trojan War, or archaeology, would we start by talking to them about Scuba divers ? Certainly not.
Even if we did, there are many children for whom this would not be good beginning, or a beginning
at all. Finally, when they are following their own noses, learning what they are curious about,
children go faster, cover more territory than we would ever think of trying to mark out for them, or
make them cover. People have often said to me, nervously or angrily, that if we let children learn
what they want to know they will become narrow specialists, nutty experts in baseball batting
averages and such trivia. Not so many adults do this; the universities are full of people who have
shut themselves up in little fortresses of artificially restricted private learning. But healthy children,
still curious and unafraid, do not learn this way.

Adults fear that if they do not tightly control children’s learning :
(1) Children will become explorers

(2) Children will learn only facts

(3) Children will become narrow specialists

(4) Children will become curious and unafraid

Options :
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Read the given passage and answer the following question :

Stories show us a number of things about the ways in which children learn. They see the
world as a whole, mysterious perhaps, but a whole none the less. They do not divide it up into
airtight little categories, as we adults tend to do. It is natural for them to jump from one thing to
another, and to make the kinds of connections that are rarely made in formal classes and textbooks.
They make their own paths into the unknown, paths that we would never think of making for
them. Thus, for example, if we decided that it was important for children to know about the
Trojan War, or archaeology, would we start by talking to them about Scuba divers ? Certainly not.
Even if we did, there are many children for whom this would not be good beginning, or a beginning
at all. Finally, when they are following their own noses, learning what they are curious about,
children go faster, cover more territory than we would ever think of trying to mark out for them, or
make them cover. People have often said to me, nervously or angrily, that if we let children learn
what they want to know they will become narrow specialists, nutty experts in baseball batting
averages and such trivia. Not so many adults do this; the universities are full of people who have
shut themselves up in little fortresses of artificially restricted private learning. But healthy children,
still curious and unafraid, do not learn this way.

Healthy children are also :
(1) Inquisitive
(2) Private
(3) Mysterious
(4) Experts
Options :
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Read the given passage and answer the following question :

Stories show us a number of things about the ways in which children learn. They see the
world as a whole, mysterious perhaps, but a whole none the less. They do not divide it up into
airtight little categories, as we adults tend to do. It is natural for them to jump from one thing to
another, and to make the kinds of connections that are rarely made in formal classes and textbooks.
They make their own paths into the unknown, paths that we would never think of making for
them. Thus, for example, if we decided that it was important for children to know about the
Trojan War, or archaeology, would we start by talking to them about Scuba divers ? Certainly not.
Even if we did, there are many children for whom this would not be good beginning, or a beginning
at all. Finally, when they are following their own noses, learning what they are curious about,
children go faster, cover more territory than we would ever think of trying to mark out for them, or
make them cover. People have often said to me, nervously or angrily, that if we let children learn
what they want to know they will become narrow specialists, nutty experts in baseball batting
averages and such trivia. Not so many adults do this; the universities are full of people who have
shut themselves up in little fortresses of artificially restricted private learning. But healthy children,
still curious and unafraid, do not learn this way.

The major difference between how adults and children learn is -

(1) Adults see the world as mysterious while children do not

(2) Children tend to see the world in discrete compartments while adults do not
(3) Adults tend to see the world in discrete compartments while children do not
(4) Children see the world as restricted while adults do not
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Read the given passage and answer the following question :

Stories show us a number of things about the ways in which children learn. They see the
world as a whole, mysterious perhaps, but a whole none the less. They do not divide it up into
airtight little categories, as we adults tend to do. It is natural for them to jump from one thing to
another, and to make the kinds of connections that are rarely made in formal classes and textbooks.
They make their own paths into the unknown, paths that we would never think of making for
them. Thus, for example, if we decided that it was important for children to know about the
Trojan War, or archaeology, would we start by talking to them about Scuba divers ? Certainly not.
Even if we did, there are many children for whom this would not be good beginning, or a beginning
at all. Finally, when they are following their own noses, learning what they are curious about,
children go faster, cover more territory than we would ever think of trying to mark out for them, or
make them cover. People have often said to me, nervously or angrily, that if we let children learn
what they want to know they will become narrow specialists, nutty experts in baseball batting
averages and such trivia. Not so many adults do this; the universities are full of people who have
shut themselves up in little fortresses of artificially restricted private learning. But healthy children,
still curious and unafraid, do not learn this way.

When children are “following their own noses’ they are :
(1) Learning about their body
(2) Learning about following a trail
(3) Exploring as guided by adults
(4) Exploring the world freely
Options :
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Read the given passage and answer the following question :

Stories show us a number of things about the ways in which children learn. They see the
world as a whole, mysterious perhaps, but a whole none the less. They do not divide it up into
airtight little categories, as we adults tend to do. It is natural for them to jump from one thing to
another, and to make the kinds of connections that are rarely made in formal classes and textbooks.
They make their own paths into the unknown, paths that we would never think of making for
them. Thus, for example, if we decided that it was important for children to know about the
Trojan War, or archaeology, would we start by talking to them about Scuba divers ? Certainly not.
Even if we did, there are many children for whom this would not be good beginning, or a beginning
at all. Finally, when they are following their own noses, learning what they are curious about,
children go faster, cover more territory than we would ever think of trying to mark out for them, or
make them cover. People have often said to me, nervously or angrily, that if we let children learn
what they want to know they will become narrow specialists, nutty experts in baseball batting
averages and such trivia. Not so many adults do this; the universities are full of people who have
shut themselves up in little fortresses of artificially restricted private learning. But healthy children,
still curious and unafraid, do not learn this way.

It is natural for children to :

(1) Be guided by adults in their exploration

(2) Make connections not apparent

(3) Not learn even after their enrollment in universities
(4) Divide the world into categories
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